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The following table shows the percentage (%) distribution of viewers of JIO TV channel in five
different towns (A, B, C, D and E) alongwith the number of viewers who subscribed the channel
among them in the year 2023. Number of viewers in the town E is 1200. Based on the data in the

table, answer the questions that follow.

Town-wise Details of Channel Viewers
Town|Percentage Distribution of Channel Viewers [Number of Viewers who subscribed for the Channel
LA 2% 440
B 13% 500
C 28%% 280
D |23% 700
E 209%% 360

Note: For each town, number of channel viewers 1s the sum of number of viewers who subscribed
tor the channel and the number of viewers who did not subscribe for the channel.

Sub questions

Question Number : 1 Question Id : 34212312682 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

If the number of male unsubscribed viewers in Town-D is

200
3

% more than that of female

unsubscribed viewers, then what is the ratio of number of male unsubscribed viewers in Town-D
to the number of unsubscribed viewers in Town-A and Town-C together?

123333
2.25:54
3. 759
4.2:3

Options :

1.1

2.2

3.3

4.4

Question Number : 2 Question Id : 34212312683 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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If P is the total number of unsubscribed viewers in Town-B and Town-C together, and Q is the
number of subscribed viewers in Town-E, then Q is % less than P.

1.6

h

(]

. 80

3.60

4.70

Options :
1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 34212312684 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

325
i

If out of the number of viewers from Town-C, == are female and E of the number of female

viewers are unsubscribed viewers. then the number of unsubscribed male viewers from Town-C
IS.

1. 340

-2

. 360

3. 380

4. 420

Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 34212312685 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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What is the difference between the number of unsubscribed viewers and subscribed viewers,
taking all the towns together?

1.320

(]

. 240
3. 340

4. 300

Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 34212312686 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If P is the total number of unsubscribed viewers in Town- B and Town-C together. and Q is the
number of unsubscribed viewers in town-E, then Q is % of P.

1. 60

]

.70
3. 80

4.75

Options :
1.1
2.2
3.3
4.4

Question Id : 34212312681 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension
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g aifereT | @8 fafi= 7RI (A, B, ¢, D3R E) H 2023 H 57211 (710) 71 91 971d & G2l &
UTIRId (%) TaaR0T 3R 39 d9d & UTgd aRid| & Y21 G2Ts s o | TR E H a=id! &f J
1200 g | dIfeid § Wed STel & YR WR, 31 U 7TV YUYl & IR SIIU:

T X! P (a0
TR GRd! @1 Ud=d (G0l [o-d & T8® GRd] &I S|
A [12% 130
B 5% 500
C |28% 880
D 5% 700
E 0% 360

feuufl: Ud® TR & forg, Icl o=l B e 39 I & D GRD! DI WA 3R I
GRId] &I GBI 1N g Sl 39 d-d & g ol g |

Sub questions

Question Number : 1 Question Id : 34212312682 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If¢ TR D H T8 TY (D] BT I, S AED el €. 1 Al a=iep! bl IRATH 22,

4 ¢, S U8 -Tel 6. Al R D H UEH A gHaTd U G| & W &I TR A 3R TR
¢ H e ¢! & e 9 giHdTd GXd! Bl U1 U 3urd fhd-1 g2

L2553

2.25:54

3. 759

4.2:3
Options :
1.1
2.2
3.3
4.4

Question Number : 2 Question Id : 34212312683 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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gf¢ IR B 3R 'R ¢ DI {did 981 & Ud cRidh] &l o Y= P ¢ IR TR EH U8H
CUHI DI YBIQe, dPUQ % PHGI

1.6

L1

I

. 80
3.60

4.70
Options :
1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 34212312684 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TG TR - ¢ & DT DI 4B H 222 AfgelT ¢ SR Afgell ¥l 1 g HI L a g Sl

1.
!

8D Al g, dl R - ¢ Y 8D - 9 GUDH | B U] g

1. 340

B

. 360

3. 380

4. 420

Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 34212312685 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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gt TRl B THTER TIgd 1 94 aRid! 3R Iied aUD| & Wl & did BT 3R fhd-r g2

1.320

2

. 240
3. 340

4. 300

Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 34212312686 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g AR - B 3R TR - ¢ &l @ d#ﬁﬂ[ﬁd}qﬂlﬂcﬂﬁ qﬂm“fﬁg_m TP g 3R AN -
E U UEH A §-dTd adh] HI WA Q g, A P HIQ %G|

1. 60

I

.79
3. 80

4. 75
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 2
Sub-Section Id : 342123499
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 34212312687 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The impaired memory for events occuring before the onset of amnesia is called as:-

1. Phonological loop
2. Retrograde amnesia
3. Anterograde amnesia

4. Visuospatial sketchpad

Options :
1.1
2.2
3.3
4.4

Question Number : 6 Question Id : 34212312687 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Wiy (THARADN & RY g4 U Yd "fcd g1 & fofu &t gdl ¥fd Hedidl 6 -
1. WS

2. Uy Wiy (TR

3. TGN Wiaag (AR
4. faSleaRme Wats

Options :
1.1
2.2
3.3
4.4

Question Number : 7 Question Id : 34212312688 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What of the following aspects does not pertain to delibrate practice of learners?

1. The task is too easy or too hard

t2

. The learner is given informative feed back about his/her performance
3. The learner has adequate chances to repeat the task

4. The learner has the opportunity to correct his/her errors

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 8/173
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Options :
1.1
2.2
3.3
4.4

Question Number : 7 Question Id : 34212312688 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fFafaRad @ ¥ SH-41 ugq el & giaaria snarg # 981 o g2
1. Ig B yaTd S 3Hydl 9gd Hid g |
2. TRt i 3P e & IR H adS Bisdd [Gg1 T g
3. Tremalf & U 1 Bl QIR & Wit SR gl
4. TR7emdt & urg ool Ffeal &l g8 HIH & HaE T

Options :
1.1
2.2
3.3
4.4

Question Number : 8 Question Id : 34212312689 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT
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LISTI LISTII
Online Softwares/Tools Application
A | Trello 1. | Managing and analvzing social media campaigns
; Managing and recording, fun built-in camera recording add effects and
B. |Hootsuite II. ;
share in the groups
GitHub : ] .
C. i II1. | Managing group projects and tasks
D. |Flipgrid IV. | Managing and writing coding assignments

Choose the correct answer from the options given below:

1. A-IV, B-111, C-II, D-1
2. A-III, B-1V, C-1II, D-1
3. Al B-1, C-IV, D-1I

4. A-1, B-11, C-III, D-1IV
Options :
1.1
2.2
3.3
4.4

Question Number : 8 Question Id : 34212312689 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

I 1

(THATET iy / 231%
A |femt L | i i figH! & vdyd ud faRey &A1
R | e 51 SR RSl @1 e d RS aem ok 5
3! Bl Slle®m? 34 g H Il &l
fireed Taraed 11 |99 ufareHist| ud &l ol gag= @l
D. |Teufirs V. | BIfET FoaeEl &1 ey ud oa-
4T faU U fad el § 9 981 3R &l 994 Diflu:

1. A-IV, B-111, C-1I, D-1

I

3. A-III, B-1, C-1V, D-I1

4. A-I, B-II, C-IIL, D-1IV

Options :
1.1
2.2
3.3
4.4

.A-IIL B-1V, C-11, D-1

Question Number : 9 Question Id : 34212312690 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Which of the following channels of Swayam Prabha are under IGNOU, New Delhi?

A. Channel 4
B. Channel 7
C. Channel 15
D. Channel 12
E. Channel 20

Choose the correct answer from the options given below:

1. A and E only

b2

.C and D only
3.B. C and E only

4. A.Band D only

Options :
1.1
2.2
3.3
4.4

Question Number : 9 Question Id : 34212312690 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafdfRad 9 9 syl & 1Y d4d =3 [doedl fud 29 & sidiid g2
A. 00 4
B. d9d 7
C. 994 15
D. 994 12
E. d4d 20

1 feu U fas ettt # 9 F1 IR &1 99 DI
1. hdcd A 3R E
2.Hdd C 3R D
3.Hdd B, C 3RE
4. HId A, B 3R D

Options :
1.1
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2.2
3.3
4.4

Question Number : 10 Question Id : 34212312691 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following can be used as LMS to create and manage course content?

A. Moodle
B. Zoom

C. Edmodo
D. Canvas
E. Strawpoll

Choose the correct answer from the options given below:

1. B, D and E only

B

A, Cand D only

LFE]

.B, C and E only

4. A.Band D only

Options :
1.1
2.2
3.3
4.4

Question Number : 10 Question Id : 34212312691 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fraferad @ ¥ fo-a1 urea=gl &f favgasd & Yo 3R Ut & foll Ud. T, 0q. & = 1
T fhdl &I Hehal g2

A Had
B. 9H
C. USHIS]
D. Hd1g
E. &UId

A fau U fasedl # 9 ¥8T 3R &1 994 Dol
1. Hdd B, D 3R E

2. HAA A, C 3R D
3. Hdd B, C 3ARE
4. %dd A, B 3R D

Options :
1.1
2.2
3.3
4.4

Question Number : 11 Question Id : 34212312692 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to UGC Regulations 2018 on Plagiarism, which of the following percentage of
similarity in the thesis would result in the cancellation of a student's registration in the
programme he/she is registered in?

1. 42%

4.61%
Options :
1.1
2.2
3.3
4.4

Question Number : 11 Question Id : 34212312692 Question Type : MCQ Option Shuffling : No
https://g28.digialm.com/CAE/viewHtmIPDFAction.action 14/173
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Correct Marks : 2 Wrong Marks : 0

Yifed 9’ & Ydiy d fayfqeerd sFeM smanT (goiid) fafFad 2018 & YR 2y gdy o
fgfeRad ® U fod ufd=rd gHHEd Urs S W fdbdl B &1 Uoiihrul 39 UiUH 9 IE ¢
ST, S U 98 Usiied o2

1. 42%

-2
A
T
=}
a\

4.61%
Options :
1.1
2.2
3.3
4.4

Question Number : 12 Question Id : 34212312693 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following types of sampling is likely to have least bias?

1. Snowball sampling

f-2

. Simple random sampling
3. Convenience sampling

4. Purposive sampling

Options :
1.1
2.2
3.3
4.4

Question Number : 12 Question Id : 34212312693 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fFafafad 7 9 &9 YR & Ufdegd # AdH gaiig g ST JH1aHT gidl ©:
- hgd Ufd=a (@idrd Uid=a)

YR gTefyd Ufd=d

- gfayrsH s ufdagd

4. QU ufdaa-

Options :
1.1
2.2
3.3
4.4

—

g

L8]

Question Number : 13 Question Id : 34212312694 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct statements regarding survey research.

A. A closed ended question contains a set of answers that a respondent chooses

B. Self-Deception Positivity is a from of social desirability bias

C. Impression Management is a form of social desirability bias

D. In key informant sampling, a researcher uses a member of the population of interest to
actively recruit others

Choose the correct answer from the options given below:

l.A. Band C only
2.B. C and D only
3. A.Band D only

4. A. Cand D only

Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 34212312694 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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YA&fuT YU & Gdy T Tl YAl Hl UgdH HIfe:

A. 3 TR a1 Uy | SRl &1 U< gidl g o SR a-aral g1 g |

B. 3TH-dd4 YHRIHAD I, YT dig-1adl Iaiig 1 FJ 3l

C. YHTd UseH, Yol qidg-1gdl Jaiig &1 &4 ¢

D. YA Y Yfcragd 1 Uh Ul Eid B S8 & U Yo ST ST Gl
DI Yl B & [T HIAT 8|

- fqu ¢ fgdett H# 4 FoT IR &l 99 DI
1. Had A, B AR C
2. $HIAB. C 3R D
3. $had A, B3R D
4. Had A, C 3R D

Options :
1.1
2.2
3.3
4.4

Question Number : 14 Question Id : 34212312695 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following statistical measures in increasing order

A 37ih percentile
B. first quartile
C. median

D. third decile

Choose the correct answer from the options given below:
1 B2, B
2.B.D.A.C
3B, C.AD

4.C,B, D, A

Options :
1.1
2.2

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 17/173



8/31/24, 10:18 PM g28.digialm.com/CAE/viewHtmIPDFAction.action
3.3
4.4

Question Number : 14 Question Id : 34212312695 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafeRad OiRers 1 AUl &1 d6d $H H ogaid Dif|

A. 37 91 IdHS
B. Ugdl Igdd
C. HIfED]

D. AR GRHS

A fGu U A edl § 9 T 3R &1 994 DifeiL:

1.A,B,C,D

2.B,D,A,C
3.B,C;A, D

4.C, B, D, A

Options :
1.1
2.2
3.3
4.4

Question Number : 15 Question Id : 34212312696 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 18/173
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Match List I with List IT
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List I List IT
(n=number of trials p=probability of success)|(Variance of Binomial Distribution)
A ln=7.p=03 L |144
B |n=3p=04 I |2.00
C. |[n=8p=03 Im. 11.20
D |n=6p=06 V. | 147

Choose the correct answer from the options given below:

1. A-1, B-II, C-IIL, D-IV

2. A-II B-III, C-IV, D-1

3. AL B-1V, C-I, D-1I

4. A-IV, B-1I1, C-1I1, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 15 Question Id : 34212312696 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

.. . ik

o= T 3 Ry | (50 [0 BT TR

A |n=7p=03 I 144
B. |n=5p=04 II. 12.00
C. In=8.p=053 I | 1.20
D. |n=6.p=05 IV, [ 1.47

il [ -

A Teu TU [dd el | 9 gt 3R &1 994 HITU:

1. A-I, B-II, C-III, D-IV
2. A-11, B-1II, C-1V, D-1
3. A-IIT, B-IV, C-I, D-II

4. A-IV, B-III. C-II, D-I
Options :
1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 34212312697 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the post-information age, information is highly.

|. Homogeneous

t2

. Communitarian
3. Personalised

4. Impersonal

Options :
1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 34212312697 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TR - G g 1 YA A
R EIRIEN

HEEE §
4. 3dUfad® o

Options :
1.1
2.2
3.3
4.4

—

f-2

L8]

Question Number : 17 Question Id : 34212312698 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In an information society, even nuclear families have the characteristic of technological

1. Separation

t-2

. Mediation
3. Constriction

4. Passivity

Options :
1.1
2.2
3.3
4.4

Question Number : 17 Question Id : 34212312698 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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g%%am&ninﬁﬂwﬁmwﬁa@raﬁiﬁﬁaﬁfﬁaﬂmm GCAREELG!
|

1. G
2. AR

3. P
4. HHUTA

Options :
1.1
2.2
3.3
4.4

Question Number : 18 Question Id : 34212312699 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A hot medium has the features of:

A. Pre-supposition of interaction

B. Providing large amounts of information
C. Little effort needed for interpretation
D. Less scope for participation

E. Immediate feedback

Choose the correct answer from the options given below:

1. A B, Conly

[

. C, D, Eonly
3.A,C,Donly

4.B,C,Donly

Options :
1.1
2.2
3.3
4.4

Question Number : 18 Question Id : 34212312699 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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FrafaRad mrem o1 Fefafad ot gid 8

A. TRTR® T 1 qaigaH

B. 931 A1 H AT 3UCT DRG]

C. ARAT (AT B & [ BT T 64 DI ahdl gldl ©
D. YTl & folt o1 egw

E. dichIidd Uidgfe

i fu U fad el § 9 @81 IR &l 994 Diflu;
. HAAd A, B, C

2. Bdd C.D.E
3. HAAd A, C.D
4. BAd B. C.D

Options :
1.1
2.2
3.3
4.4

Question Number : 19 Question Id : 34212312700 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct chronological sequence of the following communication devices:

A. Blu-ray Disc

B. Universal media Disc
C. Digital Compact Disc
D.Hi8

E. Digital Audio Tape

Choose the correct answer from the options given below:
L.ED C B A
2D:CRAE
3B AED

4.B,AE D, C

Options :
1.1

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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2.2
3.3
4.4

Question Number : 19 Question Id : 34212312700 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YaR U 9 FafaRad Ul & dicdd & Yol hd &l g S|

A X 3w
B. gi-qyd Hifsar fewn

+id fGu T fasedl § 9 @@t 39 &1 994 Hifeu:
I.E.D,C.B. A
2.D,C,B,A,E
3.C,B.AE,D
4.B,AE,D,C
Options :
1.1
2.2

3.3
4.4

Question Number : 20 Question Id : 34212312701 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
(Medium) (Characteristic)
A |Radio I. | Asvnchronous
B. |Primt II. |High intensity of information
C. |Hot medium III. |Interactivity
D |Internet IV | Only Acoustic medium

Choose the correct answer from the options given below:

1. A-I, B-II, C-1II, D-IV
2. A-1I, B-III, C-1V, D-1
3. AL B-TV, C-1. D-IT

4. A-IV, B-1, C-II, D-IIT

Options :
1.1
2.2
3.3
4.4

Question Number : 20 Question Id : 34212312701 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

I I
= | &
A | L |sgsoifts
B. |qzU II. | =T &l 3= Mol
C. | emhHE® g | 1L | IRERS haradd
D. |Fee V. |dae @f-ie arem

I feu 71U fash el § 9 T8t IR $I1 994 HIfIT:
I. A-I, B-II, C-IIL, D-IV
2. A-IL B-IIL, C-IV, D-I
3. AL B-IV, C-I, D-II

4. A-1V, B-1, C-1I, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 34212312702 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If a fraction is multiplied by itself and then divided by the reciprocal of the same fraction, the
result obtained is 492 Find the fraction.

n
l.3—

Lad

ta

W | —

i | b

4.41
3
Options :
1.1

2.2

3.3
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4.4

Question Number : 21 Question Id : 34212312702 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gfe fpd fird o1 34! 3 Y 707 {61 S 3R 34 916 390! 341 & Hohd Y fauord
ﬁmwa“rwwﬁwmm%@maamﬂmﬁml

A
1.3=

Options :
1.1
2.2
3.3
4.4

Question Number : 22 Question Id : 34212312703 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find the number that can be inserted at the place of questions mark (?) in the series given below.
4, 10, 20, 34,52, 74,7

1. 98

I

102
3.97

4. 100

Options :
1.1
2.2
3.3
4.4

Question Number : 22 Question Id : 34212312703 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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a1 1S gaar § Uy g & RIF W SR 1 Si-dlel Y J1d i |

4, 10, 20, 34,52, 74,7

1. 98

2

102

3.97

4. 100
Options :
1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 34212312704 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-TT

LISTI LISTII
(Statement) (Result)
A | Average of the squares of first 10 natural numbers| 1. |13
B. | Average of first 5 multiplies of 5 II. |45
C. | Average of first 25 natural numbers III. | 38.5
D. | Average of cubes of first 3 natural numbers IV. |15

Choose the correct answer from the options given below:

1. A-I, B-II, C-III, D-IV
2. A-1l, B-1II, C-1V, D-1
3. A-1IV, B-1, C-II, D-III

4. A-III, B-IV, C-1, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 34212312704 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

I I

o o,

YA 10 Widids Seeff dar o1 afiad| 1|13
5 @ TYH 5 0TS Bl 34d I |45
UYH 25 Wi RT3 BT Sed I |385
Ty 5 Uihfdd deafl & u @1 gd | IV |15

AT U U fadhedl § U It 3R &1 994 DIoIU:

1. A-I, B-II, C-III, D-IV

olo|w|x

2. A-II, B-IIL, C-IV, D-1
3. A-IV, B-1, C-II, D-III

4. A-III, B-1V, C-1, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 24 Question Id : 34212312705 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In a certain code language:

*“Kashmiri Cuisines are good” is coded as: * KI CI FI GI”

*“You like Kashmiri Cuisines™ is coded as: “AI LI KI CI”

“Indians like Punjabi Cuisines™ is coded as: "MI LI BI CI"

“Punjabi Cuisines are best™ is coded as: "BI CI FI TI"

How the words *you’, ‘Indians’ and' best' are coded in this language.

1. LI, KI and Al

f2

.KI, MI and CI

3.AI MIand TI

4. AL, MI and CI

Options :
1.1
2.2
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3.3
4.4

Question Number : 24 Question Id : 34212312705 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fhd e YW T:-

“Kashmiri cuisines are good” @I KI CIFI GI b ¥ H CTEFATRIREIR]) S
“you like Kashmiri Cuisines” @I AI LIKI CI® U H dddg ERIEIGIE
“Indians like Punjabi Cuisines” MILI BI CIh U I podg bl EIGI
“Punjabi Cuisines are best™ BI CI FI TI &Y Pldeg ERIEIGIE

o4 HTyT H ‘you', ‘Indians’ AR “best” Dl Y UHR Pldg ICRRIE| %i’
A1d U TIQ fddpedl H ¥ #5T SR B 79 DIfSIE:

1. LL KI 3R Al

2. KL MI 3R cI
3. AL MI 3R TI

4. AL MI 3R CI

Options :
1.1
2.2
3.3
4.4

Question Number : 25 Question Id : 34212312706 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

There are some Cows and Ducks in a park. The total number of heads of Cows and Ducks
together is 60. However, the total number legs of the cows and ducks together is 180. Find the

number of cows and ducks in the park, respectively.

1. 30, 30

2

32,28

3.28 32

4. 24, 36
Options :
1.1
2.2
3.3
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4.4

Question Number : 25 Question Id : 34212312706 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Uh Uid H $& Y 3R S §. 71 3R §wal & (R &1 ol feidh: W& 60 g1 qyid,
T 3R dodl D1 Dol THThR T 1 AT 180 1 UTdh H 71T 3R Seival &bl TeT hus:
J1d DIfTU|

L.

[

4.

30,

Options :

1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 34212312707 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

30

g28.digialm.com/CAE/viewHtmIPDFAction.action

*This piece of Chalk has mass, therefore, the atoms that compose this piece of chalk have mass.”
Which of the following options is true of the above argument?

1. Fallacy of composition 1s committed here

2. Slippery slope is nvolved here

3. Hasty Generalization is committed here

4. It 1s a non-fallacious argument

Options :

1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 34212312707 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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i (AN & TH hs U ST g, ST dlh & 39 Sho BT AT 6 dle] TRHTILS]
o ot goqa gidl & Suddd gfdd & Y&y ¥ Fafafad @ 9 s fde e g g2

1. I8l Uefd Siv fhar TR 5|
2. gel Thyed gad ¢a Hdfigd g1
3. gg G=Rd IrAISHI 6l T g |

4. 98 U TR - Ay gfad ¢

Options :
1.1
2.2
3.3
4.4

Question Number : 27 Question Id : 34212312708 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are true?

A. A valid argument may have false premises and a true conclusion
B. An invalid argument may have false premises and a true conclusion
C. An invalid argument may have true premises and a false conclusion
D. A valid argument may have true premises and a false conclusion

Choose the correct answer from the options given below:

1.AB,C.D

t-2

. B and C only
3. Aand D only

4. A. B and C only
Options :
1.1
2.2
3.3
4.4

Question Number : 27 Question Id : 34212312708 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fAafRad 7 ¥ ®H-0 &Y Td o2

A. T 94 g § i 3R 3R U U by gl Thal g
B. U 3{d% gfqd O e R r 3R Uh 9 5y gl Ghdi gl
C. U 33 gfad T I ATUTRGR 37R Ueh {71247 F5h gl Yhdl ¢ |
D. Ut 94 Gfdd ¥ Y YR 3R U {7721 F5H gl Ihdl gl

A fGu U A edl § O 8T 3R &1 904 DifoiL:

1.A,B,C,D

) FHIAB AR C
3. HddA AR D
4. Hadd A, B3R C

Options :
1.1
2.2
3.3
4.4

Question Number : 28 Question Id : 34212312709 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following in order of decreasing denotation.

A. Physics

B. Natural Sciences
C. Sciences

D. Nuclear Physics

Choose the correct answer from the options given below:
1.C.B,A D
2.B.C,A.D
3.D.AB.C

4.B.C.D A
Options :
1.1
2.2
3.3
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4.4

Question Number : 28 Question Id : 34212312709 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fAeIRad & ged 9dd & HH H FaRRUd DIfI:
A, HIfd® IR
B. UIdidd fa3
c. fagm
D. AIHS I HITdH AR
< fSu U fadeul § 4 @87 IR BT 90 DIOIT:

1. C.BA D

[

B.C.AD

3:PD.AB;C

4.B.C.D. A

Options :
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 34212312710 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
{Type of informal Fallacy) (Reason)
A |False cause 1. |Relevance
B. | Appeal to Emotion II. | Ambiguity
C. | Complex Question III. | Defective Induction
D. |Fallacy of Composition | IV, |Presumption

Choose the correct answer from the options given below:
1. A-IV. B-II, C-1I1, D-I
2. A-IIL B-1, C-IV, D-1I
3. A-IIL, B-IV, C-1, D-II

4. A-II, B-1, C-IV, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 34212312710 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

(&Hﬁﬂﬁﬁ:ﬁ;ﬁaﬂm (ﬂ%
A |fa eRo 1 |l
B. | 914G 3FI8 . | 3Rgpdl
c. |sfeamy 1L | GIeqUi 3
D. |Wefd g IV. | qaigaH

I feu 71U fash el § 9 T8t IR $I1 994 HIfIT:
1. A-IV, B-IL, C-III, D-I
2. AL B-1, C-IV, D-II
3. AL B-IV, C-I, D-II

4. A-I1, B-1, C-1IV, D-IIT

Options :
1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 34212312711 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to Nyaya logic which of the following statements is fallacious because the middle
term instead of proving the existence of the major term in the minor term., it proves its non-
existence therein.

1. Sound is eternal because it is produced

]

. The hill has fire because it 15 knowable
3. Sound 1s eternal because it 1s audible

4. All things are non-eternal because thev are knowable

Options :
1.1
2.2
3.3
4.4
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Question Number : 30 Question Id : 34212312711 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A A & YR FEfaRad § ¥ fdd Sy o dhaly ¢ difd T Ug, 1o Ue § gre ug &
3 Dl lfdd DI & Iol1d, T8 IUH 34D AT ci-dl I Tlied Hdl g

L. €17 21y ¢ 1 g Idiiad &l Sl B
2. UgTSI H 3N § i 98 34 B

3. & A1 g D T8 4 ¢

4. 9t - FEIE TR-=NYd € Fifh d I ¢

Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 34212312712 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A keylogger. short for keystroke logger, is a type of that monitors and records what
you type on your computer or mobile phone.

1. Worm

2

. Spyware
3. Virus

4. Trojan Horse

Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 34212312712 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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@I - ¥l AR & {elU Tigd Usq, Dl - AR Th UDHR DI © Sl 3MUd gRT 30
$HUIeR YT HIEd Bl TR 2130 &I ol Te! il &1 TR Hd1 ¢ 9 39 Rdbre gl

L. drH

2. TR
3. digxd
4. TIoH gIY

Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 34212312713 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following pair of acronym and its expansion is incorrectly matched?

1. XML- Extensible Markup Language

t-2

. WWW- World Wide Web
3. VLSI- Very Large Scale Integration

4. SMS- Short Message Software

Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 34212312713 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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uRquif 9 34 fa¥dR &1 % # @ D181 g gAferd 181 €2
. U A U - TeRie st AT 31 cfiast

3% S S - dcs dI2s dd

1 T T 37 - 48 arSl Whel SCUTH

4. 7Y TH UY - 1C A HIEdTR

Options :
1.1
2.2
3.3
4.4

—

g

L8]

Question Number : 33 Question Id : 34212312714 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the sequence of ICT terms A-D that correctly fills the blanks in the following paragraph:
is permanent memory that is used to store instructions that are needed to start the

computer. is fast temporary memory that is used to store data and applications that are

currently in use. carries out processing and turns data into information. The

1s used to plug all other components into the computer system.

A. Motherboard
B. RAM
C.CPU
D. ROM

Choose the correct answer from the options given below:
1D B A C
2.AD,C.B
3.C,A.B.D

4.D,B,C,A

Options :
1.1
2.2
3.3
4.4

Question Number : 33 Question Id : 34212312714 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

313 4l &1 Uel A-D & 39 HH & UgdH ST Sl (9 T2 & Rad R 1 Ugl YR 4R
_ =yEigfa gl g o uanT 34 SHel & W%WWW%W
DU Bl HRY T & [0 HEAWHATgdigl 3T Wi il g ford
3 STeT d TN BT W%mam%ﬁﬂﬁaﬁﬂﬁﬁ CRIEIREEEE
JhH0 63l ¢ AR S1el DI Y1 § dad adl B &1 UG 30 gt
HCHI Bl HWR YoITell § Siis & foe fbar S g

A. HERdlS

B. 3R TUH
c. g g

D. 3R 3 TH
A fqu U fameul § 9 98T 3R 1 994 DI

1.D.B.A,C

2.A.D,C,B
3.C,A,B,D

4.D.B.C.A
Options :
1.1
2.2
3.3
4.4

Question Number : 34 Question Id : 34212312715 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following software titles are examples of operating system?

A. MS-Word

B. Linux

C. MS-PowerPoint
D. Adobe Photoshop
E. Android

Choose the correct answer from the options given below:

I.A. Cand D only
2.A.B.CandD only
3.B and E only

4. B, D and E only

Options :
1.1
2.2
3.3
4.4

Question Number : 34 Question Id : 34212312715 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

79 U ¥ 1Y 9ieda? i UdIa- YUl & 3alg 0l g2

A UATYdS
B. felHag

C. UH Y UTdR W@ige
D. US4 Hhiel2y

E. U39S
Hid fqu U fddetl #§ 9 Fg1 IR DI 949 iU
1.hdd A, C 3R D
2. Hdd A, B, C 3R D
3. Hdd B AR E
4. $dd B, D3R E

Options :
1.1
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2.2
3.3
4.4

Question Number : 35 Question Id : 34212312716 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

LISTI
LISTII
E omipnter {(Description)
Network) P
A | Flat Network I. |Describes today's worldwide connection of networks
Describes a network that lies completely inside a trusted area of a network
B. |Extranet I . : ) i =i
and 1s under the security control of system and network administrators
o | i m Describes a network that avoids packet-looping issues, through an architecture
that does not have layers
. |Describes a network that is an extension of a selected portion of a company's
D |Internet vV N
Intranet to external partners

Choose the correct answer from the options given below:
1. A-IV. B-III. C-1, D-II
2. A-IIT, B-TIV, C-I1, D-I
3. AL B-1, C-IIT, D-IV

4. A-IIT, B-IV, C-1, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 35 Question Id : 34212312716 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

a1 gt o
(PUEX AeTH) (ferarom)
A |Uce dcad I |3 & fayerdt Sead & Saie &1 gui- ddl 8l

- U Acgd &1 9= BT & ol Quidar Aead & fausd 87 & iz 3R gomeh
& [dige U g Yead weres! & e Raa g erar 21

c |e=re - ﬂﬁﬁeaai?%alﬂﬁ Bl § Sl URde - HeeT & Aread ¥ Udhe-qfth1 qel 1

= | @ UY Jeqd &1 9Uf- BT § &l P & 52 & Tafd 32 $1 9l
JEESE | yrfieRi &1 Suaw gld 8|

A f6u U A edl § U Jot IR 1 I994 HIIU;

1. A-IV, B-1II, C-I, D-II

B

. A-IIL, B-IV, C-II, D-1
3. A-IL, B-L, C-IIL, D-IV

4. A-III, B-1V, C-I, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 36 Question Id : 34212312717 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is known as the heart of sewage treatment?

l. Primary treatment

t-2

. Secondary treatment
3. Tertiary treatment

4. Advanced treatment
Options :
1.1
2.2
3.3
4.4
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Question Number : 36 Question Id : 34212312717 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafaRad o O {64 U &1 STaad e (a9 dietie) & g6d & U 4 \HI Sidl g2
. UTY Qe

2. fgdias® eH
3. Al e

4. 39d eE

Options :
1.1
2.2
3.3
4.4

Question Number : 37 Question Id : 34212312718 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are true about class I and class II ozone depleting substances?

A. Ozone depleting potential of class-I substances are far more than class II
B. Ozone depleting potential of class II substances are far more than class I
C. All chlorofluoro carbons belong to class IT ozone depleting substances
D. HCFC-21 belongs to class IT ozone depleting substance

E. Class-I contains fully halogenated gases

Choose the correct answer from the options given below:

1. A. D and E only
2.B, C and E only
3.A.Cand D only

4. C,D and E only

Options :
1.1
2.2
3.3
4.4

Question Number : 37 Question Id : 34212312718 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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7% 7 U & 971 Ud 11 3TN &fividh Jedl & aR H 9 82

A. T-1 Tcdl BT IS &ivres U1 d7-11 B Joi-1 § 9gd 31fe® o
B. T7-11 dcdl D1 SIS &0 YA 97i-1 b1 gof-T1 § dgd 319 3
c. G FARIGRI HIe a¥-11 3l i dd 9 Yalferd gid g1

D. U 9 UG Tl - 21 T9.11 357 v ded U Yafed g

E. 9.1 5 quid: gaiioHcs T gIdi |

i feu T fahedl § 9 a1 IR B 99 DIIT;
|.$ddA.DUFE

2. HAdB.CTUdE
3. FHdAA.CUE D
4. HAAC. DU E

Options :
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 34212312719 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the correct sequence of following drinking water treatment processes from initial to
final?

A. Filtration

B. Disinfection

C. Gravity settlement of large particles
D. Flocculation

Choose the correct answer from the options given below:
1.ABCD
2.8 B, B.C
3.C.D.A.B

4.C,D,B,A

Options :
1.1
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2.2
3.3
4.4

Question Number : 38 Question Id : 34212312719 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FafaRad b4 & arl &1 UR™ ¥ 3id d& ffHfchar Ufthal &1 Yg! H 91 g

A. e (hedeH)

B. ﬁ?ﬂﬂﬁfifﬁ{%ﬂmﬂ]

C.d9 Il DI R=od AU

D. 3UH (TFAIRIIRH)
HId feu U f9hedl § 9 8T IR &1 994 DI

1. A, B, C.D

2.8, BB
32C.D.AB

4.C,D.B, A

Options :
1.1
2.2
3.3
4.4

Question Number : 39 Question Id : 34212312720 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Doha amendment 1s an amendment to.

1. Montreal Protocol
2. Kyoto Protocol
3. Stockholm Convention

4. Rio Summit
Options :
1.1
2.2
3.3
4.4
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Question Number : 39 Question Id : 34212312720 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0
<IgT YRMEH, SHHT U Y2 ©:
1. Aiiegd Uieidid
2. 1T Uieldid
3. Widhgied grleH
4. T R v e

Options :
1.1
2.2
3.3
4.4

Question Number : 40 Question Id : 34212312721 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

LISTI LISTII
{Sustainable Development Goal (SDG) (SDG No)
A | Clinate action I |sDG 12
B. |Life on Land II. |SDG 13
C. |Fesponsible consumption and production | III. | 5DG 14
D. |Life below water IV. | SDG 15

Choose the correct answer from the options given below:

1. A-1, B-III, C-II, D-IV

2. A-III, B-1, C-1V, D-II

3. AL B-1IV, C-III, D-1

4. A-1I, B-IV, C-1, D-IIT

Options :
1.1
2.2
3.3
4.4
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Question Number : 40 Question Id : 34212312721 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT 1S 1Y &I 11 DT e BHifoy

I I
(Umﬁuﬁm?ir&m@ﬁhﬁ) mﬂé@m
A |Saarg febar I |THshl 12
B. (YA R EET 11 (Thaisl 13
C. | 3Rard SUHRT Ud 316 | 111 |UgSiell 14
D. | 5@ & i Sflaq IV, |TEEt 15

i feu 71U fad el § 9 T8t STk &1 994 DIfIT:
1. A-I, B-IIL, C-II, D-IV
2. AL B-1, C-IV, D-II
3. A-IL B-IV, C-IIL, D-I

4. A-II, B-1V, C-1, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 41 Question Id : 34212312722 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The New Education Policy, 2020 envisages making all learners:

1. Social volunteers

t2

. Efficient administrators
3. True global citizens

4. Spiritual persons

Options :
1.1
2.2
3.3
4.4
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Question Number : 41 Question Id : 34212312722 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

s e =ifd, 2020 ¥ Wt fRreniegl of Hgfearad 94 & URb - 1 7S ¢
1. GHEISS WaUad (dTeifedr)

2. B UMD
3. AR(dD di%d ARG
4. SeTfdS Afad

Options :
1.1
2.2
3.3
4.4

Question Number : 42 Question Id : 34212312723 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Kanya Mahavidyalava. an Arva Samaji School, was established in 1896 by:

1. Bhai Veer Singh

t-2

. Agva Kaur
3. Bhai Takht Singh

4. Lala Devraj

Options :
1.1
2.2
3.3
4.4

Question Number : 42 Question Id : 34212312723 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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ST el deTerd AHS AT Whdl & =TG- Y 1896 H HHTRId SAfdd gRI 61 T8 4i:
HIS dR g

SR DR

LTS e g

4, STl GaRTSl

Options :
1.1
2.2
3.3
4.4

—

f-2

L8]

Question Number : 43 Question Id : 34212312724 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The major recommendations of the Radhakrishnan Commission are:

A. Transfer of urban universities to rural areas

B. Setting up of rural universities

C. Development of research in agriculture, commerce, law, science and technology
D. Making English language as the medium of instruction at all levels of teaching
E. Focus on student's Welfare

Choose the correct answer from the options given below:

1. A, Bonly
2.B,C,Donly
3.C.D.E only

4.B, C, E only

Options :
1.1
2.2
3.3
4.4

Question Number : 43 Question Id : 34212312724 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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RIS SR Bl T SR &

A. 91831 fayfaemerl &1 urHior &t H IR

B. UTHIUT gy faereral &1 9|

C. Pfty, aIfrsy, i, fag SR Ureiffe! & SryH &1 [ |
D. &1 & gyt TRl U 3iUSH HI9T &1 e &1 H1eaH 491
E. B & &l R &H digd S|

- feu U faded! ¥ FpT IR B 90 HIST:
1. ®dd A, B
2. $HddB. C.D
3.$HddC. D, E
4. HIAB. C. E

Options :
1.1
2.2
3.3
4.4

Question Number : 44 Question Id : 34212312725 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following Ancient Texts in chronological order.

A. Rig Veda

B. Lilavati

C. Aryabhativa
D. Arthasastra

Choose the correct answer from the options given below:

1. A,C,D,B

f2

A DC. B
3.B.C,;D, A

4.A,B,D,C

Options :
1.1
2.2
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3.3
4.4

Question Number : 44 Question Id : 34212312725 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafead U= 94 &1 SIddhd & 3R Haid il
A PG
B. dicirddl
C. MUY
D. YRR

A fGu U A edl § 9 T 3R &1 994 DifeiL:

1. A,C,D,B

I

A DC. B
3.B,C,D, A

4.A,B,D,C

Options :
1.1
2.2
3.3
4.4

Question Number : 45 Question Id : 34212312726 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
Authors Works
A |Pingal [. |Lilavati
B. |Panini II. |Chhandasastra
C. | Arvabhatta I11. | Astadhyayi
D. |Bhaskaracharya | IV. | Aryabhativa

Choose the correct answer from the options given below:
1. A-II. B-1V, C-II1, D-I
2. A-IIL, B-IL C-IV, D-1
3. AL B-IIL, C-IV, D-I

4. A-1, B-III, C-IV, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 45 Question Id : 34212312726 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

1 g
T 1. |<iicmadt
qifort 1. |@card

YT 1L | 3{ETeaTd!
yreREE | IV | emEE

A fou U fasedl # U Igt 3R &1 994 DIfoIU:

1. A-II, B-1IV, C-1I1, D-1

olo|w|r

2. A-III, B-1I, C-IV, D-I
3. A-II B-III, C-IV, D-1

4. A-1, B-III, C-1IV, D-II

Options :

1.1

2.2

3.3

4.4
Sub-Section Number : 3
Sub-Section Id : 342123500
Question Shuffling Allowed : No

Question Id : 34212312727 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group

Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (46 to 50)
Question Label : Comprehension

Read the passage carefully and answer the questions that follows:

A famine in China from 1958 to 1960 estimated to have killed about twenty-five million people.
The reason why that’s called a political crime-an ideological crime-which was discussed in most
detail by Amartya Sen: it’s part of the work for which he won the Nobel Prize. Sen is an
economist who treated this as an ideological crime for food reasons. He said it wasn’t a matter of
intent: they didn’t intend to kill anybody. It’s just that the ideological instructions were such that
it happened. It was a totalitarian state where no information about what was happening ever got
back to the center. They couldn’t take any action because that’s what happens in a totalitarian
state. So it was a reflection of the totalitarian instructions, a huge massacre that wasn’t intended.
They didn’t intend to kill twenty-five million people, but it was still a major massacre, and it’s
correct to call it one of the major atrocities of the twentieth century, and the worst single

component of the crimes of Communism.

Sub questions
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Question Number : 46 Question Id : 34212312728 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What period did the famine in China, described in the passage, occur?

1. 1945 to 1948

I

. 1958 to 1960
3. 1965 to 1968

4. 1972 to 1975
Options :
1.1
2.2
3.3
4.4

Question Number : 47 Question Id : 34212312729 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to the passage, how many people are estimated to have died in the famine in China?

1. 15 mullion

[

. 25 million
3. 35 million

4. 45 million
Options :
1.1
2.2
3.3
4.4

Question Number : 48 Question Id : 34212312730 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

who discussed the famine in detail and considered it an ideological crime?
1. Karl Marx
2. Amartya Sen
3. Noam Chomsky

4. T. S Eliot
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Options :
1.1
2.2
3.3
4.4

Question Number : 49 Question Id : 34212312731 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to the passage. what was the main reason for which the famine occurred in the
totalitarian state?

1. Intentional government polices

I

. Unpredictable natural disasters
3. Foreign interventions

4. Lack of information reaching the central authorities

Options :
1.1
2.2
3.3
4.4

Question Number : 50 Question Id : 34212312732 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

How does the passage classify the famine in terms of twentieth-century atrocities?

1. A deliberate genocide

f-2

. A minor event
3. an unavoidable disaster

4. One of the major atrocities

Options :
1.1
2.2
3.3
4.4

Question Id : 34212312727 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension
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frrafifEa e &1 wryde e ok 39% ae i3 U uat & 3w difvte:

ay 1958 T 1960 A 914 H TS giel T T 25 Taferad €l & IR S &1 34 fdar a1
¢ 1 34 HRUI Y TH AeHlidd URY — Uh ddiRd WY el T ¢, D! 3Fd 4 5
gafftre fawgd o=l 31, T8 301 39 Bid &I YT 8, Forgd o1y Il Fidd IR siar| I
T YRl ¢, TS5 J9fad BRI Y 38 Udh ddIid 3Ry & =9 H AF1| 35iH $el fh
g 1gd & Al g1 4T: d fhdl &l ARAT 981 digd 41 g hdd a1 ¢ fb dd1iey J=1u
24 g ®l Al fb Tg gl /1| =i U GdgAIdD Iy U1, gl il 9fed gl Xl Ul, 3Hd! Yol
<18 Gl db g1 Ugd el 411 d IS BRAls gl B b Hifdh U Gdqdicdds IAd H U]
gIdl o1 29I, I8 Jaudids Y13l &l ufdfd g, g U d3] Y8R U, forgd Ui
SRIGT 8T AT 3ADT 330aT 25 Al arff &1 IR S1a- &1 el o1, iR +f 78 U uga 2y
RYUGR U1, 3R Y &Yl Adlsd] & YIT HAERI H U U, 3R YAl & W1 &1 Uh
dGR UZh Dol Ugl ol

Sub questions

Question Number : 46 Question Id : 34212312728 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Sugdd T aftid <19 gftfer g safy o afed gamym
1. 1945 T 1948

1958 F 1960

[

3. 1965 U 1968

4.1972 ¥ 1975

Options :
1.1
2.2
3.3
4.4

Question Number : 47 Question Id : 34212312729 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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YU M & SFER = T US gftiar ¥ fda dlvl & AR S &1 301 fhar T ge
1. 15 fAferma

-2
-2
A

4. 45 Taferoq

Options :
1.1
2.2
3.3
4.4

Question Number : 48 Question Id : 34212312730 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fope dH § US gitiel B faxgd ol 3t 3R 34 U ddRed 3URTe HHED
1. Tl Ty
2. 3
3. [T R

4,91 9. gfeme

Options :
1.1
2.2
3.3
4.4

Question Number : 49 Question Id : 34212312731 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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SUYdd T & IR Y 8 SR Y Ydaqdidid ol H gie IsT U
G WRBR Hifqgt

. 3YATFHT UIp T SMue
fac=l gwem
4. D=1 MBIl T YaT Uga- BT 2fH1d

Options :
1.1
2.2
3.3
4.4

—

f-2

L8]

Question Number : 50 Question Id : 34212312732 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SUad el A4 Tl & AHAER! & Y H gfifel & aiffpd dHed g2
. S-S a1 T/ U RUGR
2. U HH Hel
3. U® 3uivgr fauar
4. U9 AR 4 Y U

Options :

1.1

2.2

3.3

4.4

Visual Art

Section Id : 342123169
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 342123501
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Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 34212312733 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The white or Coloured area around an element is known as which of the following.
1. Space division

2. Bowl space

L

. Negative space

4. Counter space

Options :
1.1
2.2
3.3
4.4

Question Number : 51 Question Id : 34212312733 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fpdl ded o ATY-UTY Ylhe g1 [iH &7 &l Fafaiad H O 69 A U SIE1 S 82
1. R faureH (309 f&dieH)

2. q13d WY

3. APRIAD WM (FHAlfed W)

4. PIIR WY
Options :
1.1
2.2

3.3
4.4

Question Number : 52 Question Id : 34212312734 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Colors such as Emerald Green, Veridian Green, Magenta are:
Considered which of the following?

. Multicromatic colours

(]

. Intermediate colours
3. Quaternary colours

4. Fugitive colours

Options :
1.1
2.2
3.3
4.4

Question Number : 52 Question Id : 34212312734 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

UHRIeS UiH. [aRIgTA IiF. Boi=e1 oI 3 &l fAgifed | 9 &1 A1 SIidl 82
1. dghiHfed 31
> Headf

3. 9Ad8h U1
4. YT

Options :
1.1
2.2
3.3
4.4

Question Number : 53 Question Id : 34212312735 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The nests of the birds live weaver bird or tailor bird comes under which of the following
categories of art?

l. Fine Arts

(]

. Sculpture
3. Architectural Design

4. Craftsmanship
Options :
1.1
2.2
3.3
4.4

Question Number : 53 Question Id : 34212312735 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ﬁ@gﬁﬁmém%ﬁ%mﬁ%ﬁf%%ﬁmﬁﬁaﬁ@ﬁ@%aﬂ%%ﬁh
g7

1. dfeld &l

2. gid Dl
3. AR SHHB A
4. RIS (BRI

Options :
1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 34212312736 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The “Kamasutra” by Vatsyavana has enumerated 64 art of ancient India, while the treatise
“Lalitavistar” has enumerated how many art?

1. 64

(]

. 86
3.76

4. 99

Options :
1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 34212312736 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

| . TR 3

TR GRT (AT “HIRE H U HRA Bl 64 B3l B Iewid ¢, Feidh ferd fa&r
Ty fha-t Hell3fl b1 70T 82

1. 64

]

. 86

3. G

4.99
Options :
1.1
2.2
3.3
4.4

Question Number : 55 Question Id : 34212312737 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Normally Bronze is a composite alloy of metals, identify the metals along with silver and gold in
varying proportions.

[—

. Copper, tin, lead

(]

. Copper and Zinc
3. Iron and Zinc

4. Copper and lead

Options :
1.1
2.2
3.3
4.4

Question Number : 55 Question Id : 34212312737 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

I B Urdedl i fyerd &1 ued g, 384 oid 3R Wol & 91 Hgfafad 4 9 o
i 4Tt o1 Rad! 3T 2MHe 82

1. dr¥, fe-, gir

T 3R Sl

[

TIg 3R ol
4. dY 2R g1

Options :
1.1
2.2
3.3
4.4

e

Question Number : 56 Question Id : 34212312738 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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“Smoking” term used in print making of following as a process to darkened the surface of matrix.

1. Lithography

t2

. Dry point
3. Hard ground etching

4. Mezzotint
Options :
1.1
2.2
3.3
4.4

Question Number : 56 Question Id : 34212312738 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafrad @ O foud geor o -~J IS (U Use BT TaNT H1odg (Afcay) S Tdg $i 18
B3 DI ufbar § fhar Sirar g2

L. ST

2. gIg WIgc
3. gIe UTd 8 Hamur (Ui
4. Hife=

Options :
1.1
2.2
3.3
4.4

Question Number : 57 Question Id : 34212312739 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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In digital technologies, when text is aligned left, some words at the end of the lines might just out
further than the rest and cause uneven-looking paragraphs is termed as which of the following?

1. Misleading
2. Bleed
3. Ragging

4. River text

Options :
1.1
2.2
3.3
4.4

Question Number : 57 Question Id : 34212312739 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fefored Unifehal H Jd CaRe &l due 3rig=s far Sirdr g, di tfad & 2id # $© Weq 37
W@[a%?ﬁaﬁ%“wﬁmwwéﬂaﬁ@ém%ﬁﬁaﬁmﬁﬁmwﬁ
ST ST 82

1. FAeifET
2. &S
3. XM
4. R dae

Options :
1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 34212312740 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The most widely used file format in art work: Preparation for print, which contain either vector or
bitmap information is known as which of the following?

1. PSD

(]

. TIFF
3. EPS

4. JPEG

Options :
1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 34212312740 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

a0l & [elU delldhid (31 ddy) dUR &R & foid Haifae wdd fdhar - arer e forad ar
ol daeR g1 [qeHy a1 il 8. 34 FHEfciRad & 4 {9 918 9 =1 Sl 82

1. diugdt
2. fem

3. guley
4. Sidigoll

Options :
1.1
2.2
3.3
4.4

Question Number : 59 Question Id : 34212312741 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The term *Duhin’ is related with.

l. Rasa

t2

. Name of an author
3. Shadanga

4. Kamsutra
Options :
1.1
2.2
3.3
4.4

Question Number : 59 Question Id : 34212312741 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e Tisa Fgifena 7 @ b Taferd 22

134

[t

. TGH B A

3. 93T

4. B
Options :

1.1

2.2

3.3

4.4

Question Number : 60 Question Id : 34212312742 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Identify the philosopher among the following who was a son of sculptor and he was also a
sculptor.

l. Plato
2. Aristotle
3. Socrates

4. Pythagoras

Options :
1.1
2.2
3.3
4.4

Question Number : 60 Question Id : 34212312742 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Fafeiad o O 39 qRifFe &l fagifed SIS Sl gider o1 g 41 du1 @d o gideR 4
1. &iel

2. 3RE]
3. gaxId
4. UISYRIRY

Options :
1.1
2.2
3.3
4.4

Question Number : 61 Question Id : 34212312743 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Who painted the series of ‘Frieze of life’ which was displayed in Paris?

1. Picasso

t2

. Edward Munch
3. John Miro

4. Salvador Dali
Options :
1.1
2.2
3.3
4.4

Question Number : 61 Question Id : 34212312743 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

URY # UafRid &1 s “Thisl 3 A3 Sadl &l 9 H U fdaH fiEd fdoar up
1. foera

. Usds Hb

3. ST HRI

4. GedISRR STcil

Options :
1.1
2.2
3.3
4.4

[~

Question Number : 62 Question Id : 34212312744 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the period of Helenistic Art?

1. 1500 -490 BC

f-2

. 490 - 480 BC

3.323 -31 BC

4. 480 - 300 BC
Options :
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1.1
2.2
3.3
4.4

Question Number : 62 Question Id : 34212312744 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g d (@AM Sl &l id Hgifdbd § 9S4 91 g2

1. 1500 -490 5.1,
2.490 - 480 5.1,
3.323-3130
4. 480 - 300 3.7,

Options :

1.1

2.2

3.3

4.4

Question Number : 63 Question Id : 34212312745 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the one from the following forms of indoor advertising?

1. Posters

]

. Radio
3. Painted and Electric displays

4. Sandwich boards
Options :
1.1
2.2
3.3
4.4

Question Number : 63 Question Id : 34212312745 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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goR (HIdR) fagmu &1 U i H Y DI a1 g2
1. UReX
2. &l
3. I SR Safdes fead
4. YSfaaas

Options :
1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 34212312746 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one painting from the following is not painted by K.G. Subramanyan.
1. Still life with turning women
2. Seated women
3. Image-II

4. Figure 1n studio

Options :
1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 34212312746 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frafeRad 7 ¥ &1 1 ufder & St geerom g1 [afEd T8l g2
e e faq e ga

dies g

gHYI

4. By 39 i

Options :
1.1
2.2
3.3
4.4

—

f-2

L8]

Question Number : 65 Question Id : 34212312747 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

How many caves have been discovered in single area at Bhimbetka in Madhya Pradesh?

1. 450

-2
L]
A
=

4. 750
Options :
1.1
2.2
3.3
4.4

Question Number : 65 Question Id : 34212312747 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

qeyeRl & Yiaded! d U & (e uikan o fbd-t bt o bis & 132

1. 450

-2
A
A
=

4. 750
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Options :
1.1
2.2
3.3
4.4

Question Number : 66 Question Id : 34212312748 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In which part of the body 'Udarabandha' is present in the statue of Tripurantaka (12t century
CE), kivalur taluk

1. Neck
2. Hand
3. Stomach

4. Ankle
Options :
1.1
2.2
3.3
4.4

Question Number : 66 Question Id : 34212312748 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

BRI 1 (1287 4, fhaeR I & IR & fbg YT H ~Iexa JufRd €2
1. TG

2. By
3.Uc
4. TRUMG (@G

Options :
1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 34212312749 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following dynasty represents the influence of the western culture on chinese art?

1. Sui Dynasty

t2

. Yuan Dynasty
3. Ching Dynasty

4. Ming Dynasty

Options :
1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 34212312749 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

i1l el TR Ui Wepid &1 UHTd Haifdd # 9 &1 91 Ie7d el FRefud S g2
1. g Irola
2. G3{ IS
N CURIEGR
4. T ISdw
Options :
1.1
2.2

3.3
4.4

Question Number : 68 Question Id : 34212312750 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The term for school of Japanese painting. which flourished in the late Edo period is known as:

1. Manga

t2

. Ukiyo-e
3. Maki-e

4. Nanga
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Options :
1.1
2.2
3.3
4.4

Question Number : 68 Question Id : 34212312750 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3R 331 Dld H INId-Teaidd Wod 31 STaHTS Ui (S uid o) 2ss Sl
fraffad 9| 9 o1 Srar g -

L |
2. 3fpalS
3. HPIS

4.4
Options :
1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 34212312751 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Themes like *Dashavtar’ or *“Navgrah’ forms are dipicted on which of the art form.

1. Ganjifas

-]

2. Chitra Kathi

3. Gond art

4. Pithora art
Options :
1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 34212312751 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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“CRIIGIR™ AT ~Ha¥g” S faug (HgieiRad § 9 fod oo &0 d [iEd {60 1 g0
L. TS
REEEAN]
3. 7S Ball
4. TOURT el

Options :
1.1
2.2
3.3
4.4

[~

Question Number : 70 Question Id : 34212312752 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

*Tsungko’ is an indigenous style of painting of the AO tribe of which state of India?

1. Manipur

t-2

. Assam
3. Uttarakhand

4. Nagaland

Options :
1.1
2.2
3.3
4.4

Question Number : 70 Question Id : 34212312752 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Gih!I* URd & HEaRad H U {6y 359 &l UMl (A0) SaIId Bi ¢=il Fezrdd el g2
1. AforgR

SHH

[

3. 3TNIdUsS
4. AMMAUS

Options :
1.1
2.2
3.3
4.4

Question Number : 71 Question Id : 34212312753 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Mark the deity in which somaskanda velankanm of 12th century CE standing between Uma and
Shiva?

1. Subrahmanya

2

. Chandrasekhara

3. Ganesha

4. Chandikesvara

Options :
1.1
2.2
3.3
4.4

Question Number : 71 Question Id : 34212312753 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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12 éﬁéﬂiﬁﬁﬁw,aﬂhﬂqqﬁﬁw 3R 21 & &9 T W9e gU adar ufaad d ¥
D 82

|. ey
2. TEIRR
3. 0T

4. ISHYR

Options :
1.1
2.2
3.3
4.4

Question Number : 72 Question Id : 34212312754 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who discovered Mohenjodaro from the following in 19227

1. Mr. Rakhaldas Banner;ji

]

. Mr. Raibahadhur Dayaram Sahani
3. Tarkateertha Laxamanshastri

4. Sane Guruji

Options :
1.1
2.2
3.3
4.4

Question Number : 72 Question Id : 34212312754 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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gy 1922 H Aiguige! & @i HgfeiRad H# I fogd &1 i

f-2

4

4 eI &S

S IEEIG IR HIg-l
Tl AR

Y Tl

Options :

1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 34212312755 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Identify the part of stupa that means the platform at the base belongs to the shunga period.

1

t-2

. Harmika
. Meghi

. Chhatrawalli

4, Vedika

Options :

1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 34212312755 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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fFfaRad @ ¥ 39 WU & U $f ffgd SIS S Y a9 Yeild 1eR &1 9y g2
1. T

R

3. SAdel

4. dfcant

Options :
1.1
2.2
3.3
4.4

f-2

Question Number : 74 Question Id : 34212312756 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who was given the theory of Bhaktivaad?

1. Bhatt Navak

t-2

. Bharat Muni
3. Shankuka

4, Bhatt lollata
Options :
1.1
2.2
3.3
4.4

Question Number : 74 Question Id : 34212312756 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Hidddie &1 Rigid FafaRad 5 9 fou- fear ur

—

f-2

4

Y A0S
HRd g+
RPD

. Yg dlicele

Options :

1.1
2.2
3.3
4.4

Question Number : 75 Question Id : 34212312757 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Select the author of ‘Philosophy in a New Key’.

1

t-2

. J. Santayana
. Herbert Read

. Susanne Katherina Langer

4. R.G. Collingwood

Options :

1.1
2.2
3.3
4.4

Question Number : 75 Question Id : 34212312757 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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fHalleh! 39 UG 1" IHD TidD & odd DI g2

1. S, g

eI
3. GO HUHT TR

4. 3R, Sl HIfeS

Options :
1.1
2.2
3.3
4.4

f-2

Question Number : 76 Question Id : 34212312758 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Vasuki tradition of Rasa includes which Rasa as ninth Rasa?

—

. Sringar (Love)

t2

. Veer (Heroic)

L8]

. Adbhut (Wonder)

4. Shant
Options :
1.1
2.2
3.3
4.4

Question Number : 76 Question Id : 34212312758 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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IYg®! T WORT I (afafad o O {6y 39 &1 H1d W & &0 g fear mrge

1. TR
2.dR

3. 3g¥d
4. 900d

Options :
1.1
2.2
3.3
4.4

Question Number : 77 Question Id : 34212312759 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘Simhala Avadana’ is painted in which cave of Ajanta?

1. 10

t-2

A7

4.1
Options :
1.1
2.2
3.3
4.4

Question Number : 77 Question Id : 34212312759 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

igd sfaer feidl &f fod w1 4 f[afEd g2

1. 10

r2

17

4.1
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Options :
1.1
2.2
3.3
4.4

Question Number : 78 Question Id : 34212312760 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“Tuti Nama’ is a famous Indian Folk tale which is known for.

l. Tale of love
2. Tale of Horses
3. Tale of Parrot

4. Tale of War Heros
Options :
1.1
2.2
3.3
4.4

Question Number : 78 Question Id : 34212312760 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

elT T U Ui HRATG didey 8, 98 HafaRad H 9 foy fag fawd g2
1. UH &1 Bl
2. 3%l Bl Ul
3. did DI BT
4. 4G AR B HUI

Options :
1.1
2.2
3.3
4.4

Question Number : 79 Question Id : 34212312761 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Non - personal, paid form of communication that depends on mediate channels of mass
communication is defined as which of the following term?

1. Visual communication
2. Marketing Management
3. Corporate communication

4. Advertising

Options :
1.1
2.2
3.3
4.4

Question Number : 79 Question Id : 34212312761 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SIHUIR & FAdddl -l OR % GdR & G2 R-d4fdkid =4 &I FHafdaiad 4 9 fdg
=0 H ARATY 31 Sl 52

1. e R ([d93id dRIAH )

> fauuE gdeH (Hd 11 AwH=)

3. BIURE AR (HIURE HRHHIA)

[ ]

4. 14314 (U adclglsii)

Options :
1.1
2.2
3.3
4.4

Question Number : 80 Question Id : 34212312762 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Many products / serves such as insurance covers use which of the following advertising Appeal?

1. Emotional Appeal

t2

. Health Appeal
3. Psychological Appeal

4. Fear Appeal

Options :
1.1
2.2
3.3
4.4

Question Number : 80 Question Id : 34212312762 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

d1a1 oIy 3-d Idre/dand HgfeRad d 9 fad fagma- sidid &1 uai &d g
1. HIgATHSD Ui

WY 3UTd

R:CICRIIECaAC Ui

4. YO 3{did

B

[FS]

Options :
1.1
2.2
3.3
4.4

Question Number : 81 Question Id : 34212312763 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The units developed for type measurement by Fournier-didot are termed as which of the
following?

. Semitic and Diditic

2. mm and cm
3. Didot and Bodoni

4. Point and picas

Options :
1.1
2.2
3.3
4.4

Question Number : 81 Question Id : 34212312763 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

W?_%gﬁzmﬁﬁwﬁmﬁmw@aﬁmﬁﬁmwﬁaﬁ%ﬁ
fhar ST g2

1. Offifed oI fefsfed
2. mm 3—?‘—\’ cm (ﬁ-ﬂiﬁ \31:1—\7 @Lﬁﬂ]

3. fgsic AR I

4. T3¢ 3[R UIZ I

Options :
1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 34212312764 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Term used for adjustments to the spaces between two letters.

1. Oblique
2. Bracketing
3. Leading
4. Kerning

Options :
1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 34212312764 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

<1 9UT & o9 T & GHTESH & o8 Tad Teq ¢ -
1. HIfsdd

2. SehieT
3. difaT
4. BT

Options :
1.1
2.2
3.3
4.4

Question Number : 83 Question Id : 34212312765 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the print series document the impact of the French occupation of Spain?

1. Bull fights

t2

. The Disasters of war
3. Europe a Prophecy

4. Vollard suite
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Options :
1.1
2.2
3.3
4.4

Question Number : 83 Question Id : 34212312765 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FafaRad © ¥ {5y gaur oaa & WA & Wi 3R (@sell) & UHE I axdldeligd
IR

1. 9 BIge
2. G TSoIRed 3{h aR

3. QR T Ul
4. 9eells gac

Options :
1.1
2.2
3.3
4.4

Question Number : 84 Question Id : 34212312766 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

*Street corner’, ‘old poem” and ‘sisters at toilet” etching are created by which artist?

1. Jyoti Bhatt
2. YXK. Shukla
3. Jeram Patel

4. Rashiklal Parikh
Options :
1.1
2.2
3.3
4.4

Question Number : 84 Question Id : 34212312766 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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FafaRad 4 9 {69 ddiaR (REASR) 9 Wid SR, -3ies guh 3R ey ue giude
AHS THERUT (3{FTeRg-) &1 T DI 82

1. i ¥g

2. dT3. &, Yol
3. SR Ucd
4. IS oI Ui

Options :
1.1
2.2
3.3
4.4

Question Number : 85 Question Id : 34212312767 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the artist and medium of “The heart of the Parisian stock exchange” of year 1856.

1. Tolouse Lautrec - Lithograph
2. Honore Daumier- Lithograph
3. Pablo Picasso - Etching/ Aquatint

4. Fransisco Goya - Aquatint

Options :
1.1
2.2
3.3
4.4

Question Number : 85 Question Id : 34212312767 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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ay 1856 & +q B¢ 3 & UIRMYT Tld Tads & FHAdR R HiegH o fifed Hife -
I e - TG

TR SRR - s

3. Tscl fUep T - &R0 Usptfe= (T U S 1vH)

4. TRITERD] T - AT 3101

Options :
1.1
2.2
3.3
4.4

—

f-2

Question Number : 86 Question Id : 34212312768 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Known Practicing Printmaker from Lucknow, during the forties

l. Vasant Parab

t-2

. Abdur Rahman Chughtai
3. Lalit Mohan Sen

4. Samarendra Nath Gupta

Options :
1.1
2.2
3.3
4.4

Question Number : 86 Question Id : 34212312768 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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el & GH & dG-13, & [9@d Ueddm: (FFHR) FHifdd H 9 $H g2

1. 94d Uld

. 3T6GREHH TR
. dfeid Algd U4

4. G Y T
Options :
1.1
2.2
3.3
4.4

f-2

L

Question Number : 87 Question Id : 34212312769 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

For Biscuit firing, what is the ideal temperature?

1. 250 - 500°C

]

. 500 - 800°C

3. 1050 - 1200°C

4. 850 - 1020°C

Options :
1.1
2.2
3.3
4.4

Question Number : 87 Question Id : 34212312769 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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faRee B & fau el auaE Fgifbd d @ O g

1. 250 - 500°C
2. 500 - 800°C
3. 1050 - 1200°C
4. 850 - 1020°C
Options :
1.1
2.2
3.3
4.4

Question Number : 88 Question Id : 34212312770 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Select the sculptor of 'unique forms of continuity in space 1913’

1

t-2

. Antoine Pevsner

. Umberto Boccloni

. Henr1 Mattise

4. Constantine Brancusi

Options :

1.1
2.2
3.3
4.4

Question Number : 88 Question Id : 34212312770 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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GiAD B 3 BIGL] 39 TWY-1923 BT JidbR HafaRad § I S g2
 FHC] alfiqharl
BRI AT

4. BT dhHl

Options :
1.1
2.2
3.3
4.4

—

f-2

L8]

Question Number : 89 Question Id : 34212312771 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the sculptor who use tribal method of bronze sculptures?

1. Amarnath sehgal

t2

. Ved Nayar
3. Meera Mukherjee

4. Ratna bali Kant
Options :
1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 34212312771 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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S Tl B S Taie & YA B dTd JidbR HafaRad § d $H g2

HHATY Hglldd

—

.96 AR

TR it
4. TATETCH B

Options :
1.1
2.2
3.3
4.4

f-2

L

Question Number : 90 Question Id : 34212312772 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The term * Bozzetto” is also known for?

—

. Maquette

t-2

. Finished sculpture
3. Firing for Terracotta

4. Glaze tiring

Options :
1.1
2.2
3.3
4.4

Question Number : 90 Question Id : 34212312772 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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“dIolgl Roq &I FHifdbd & fe off ST ST &
1. B (A U=

2. TR d Hfd (TS TR
3. eHIE] B (el UhHET (BRI BR DI

4, TSl BT

Options :
1.1
2.2
3.3
4.4

Question Number : 91 Question Id : 34212312773 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the sequence from initial art practices to later art practice done by Amrita Shergil.

A. Landscape drawings and water color

B. Develop her own style * Fundamentally Indian in spirit’
C. Working on self-portraits is oil

D. Drawing from life models

E. Male and female nudes mainly in charcoal

Choose the correct answer from the options given below:
1.4, D.E CB
2B, A DEC
3.0, B,A,DE

4. D E,C. B, A

Options :
1.1
2.2
3.3
4.4

Question Number : 91 Question Id : 34212312773 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 97/173



8/31/24, 10:18 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

3Tl IRATA gRI fhd T RIS Sl WA U 9IS & bl AT & HH 1 FHafaiRad &1
AR BIfoTU -

A. JRERY IWiH 3R SR

B. 30 W &1 Held: HRATT U0 el DT fdbrd

C. dd 3T H1ed § Widd (e Uice) W B HAl

D. Siidd 1=l &1 fadihd
E. G&d: AR H oY 3{R & 9 [ (g9)

A fau U fawedl # U Ul 3k &l 994 DIl

LA D ECHB

2B, A, D.E.C
3.C,B,ADE

4.D,E,C,B,A

Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 34212312774 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the principle elements of an Orissan temple in elevation and plan from top to bottom.

A. Amalaka
B. Kalasha

C. Chapra

D. Bada

E. Rekha deul

Choose the cerrect answer from the options given below:
1.A,C,D,B.E
2B ACDUE
DB EA

4.D.B.C.E.A
Options :
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1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 34212312774 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

31 et & AiGR & U dedl & I 3R Ao &I Y U dd & HH H Hald HIfory

A, SHdd
B. &l

C. 89U

D. &3l

E. 341 Sd

i feu MU fqh el o 9 F6T 3R &1 99 HifIT:
1.A,C.D.B.E
2. B8 C. D E
3.CD.B.EA

4.D,B, G EA

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 34212312775 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Select the chronological order of the following books of art philosophers.

A. Problems of Art
B. Vision and Design
C. Transformation
D. Feeling and Form

Choose the correct answer from the options given below:
1. A BC. D
2.B,C,D,A
32CDAR

4. DA B, C
Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 34212312775 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

a2 ®! B (HafciRad Geddl &1 Ugl Hra-dbd § adierd Hifs -

A, UTsTH 3T 31
B. ﬁw#ﬁ%%wsﬁ
C' -
D. BTl US BIH
T fGU U fasedl # U ggT 3 &1 9094 I

1.A,B,C.D

f2

B, C DA
3:CD.AB

4.D.A.B.C

Options :
1.1
2.2
3.3
4.4
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Question Number : 94 Question Id : 34212312776 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Select the correct chronologically of the following art societies / school according to vear of
establishment.

A. All India Fine Art and Craft Society

B. Academy of fine Arts, Calcutta

C. Bombay Art Society

D. Government School of Arts and Craft Lucknow

Choose the cerrect answer from the options given below:

1.B.ACTEH
2 BE D
3.C,D,A,B

4.D,B.A,C

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 34212312776 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafaRad Sarafeal pdl o1 3 wIaHT ¥ & AFHR gl SlardhH I -

A. 3T ST B 3¢ U Bhite ™!
B. 3dIcH! 3 GBI 31y, Haddl

C. did 311¢ g dl

D. g8 ¥hd HB ¢y US B, TG-S

A feu U fasedl § 9 ¥8T 3R &1 994 DU

1.BLAC,D

2.8, B.CD
3:CD.AB

4.D,B.A,C
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Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 34212312777 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Choose the correct chronology of the following artists according to their birth of year.

A.N. S. Bendre

B. Sailoz Mukherjee

C. B. C. Sanyal

D. Binod Behari Mukherjee

Choose the correct answer from the options given below:
1.A,C,B,D
2.B.C,D. A
3.D.B.A.C

4.C.D.B.A
Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 34212312777 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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ARG HATHRI &1 3D TN & ATIR Ug! HIAMDHH H HaRyd i -

AT T §
B. Hailvl Heit
c. of. 9. g1

D. feiq fagRT gasit
A feu e fadedl § O 8T 3R &l 994 DIl

1A B, I

2B C. DA
3P, BAC

4.C,D.B,A

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 34212312778 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Select the correct chronology of the following thinkers according to year of birth.

A. Alexander Baumgarten

B. Johan Joachin winckelmann
C. Immanual Kant

D. G.E. Lessing

Choose the correct answer from the options given below:

1.B,C,D,A

f-2

A B.C. D
2 ADDB

4 A, C.B.D
Options :
1.1
2.2
3.3
4.4
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Question Number : 96 Question Id : 34212312778 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafefad fddel & S=1ay & 38R gl BIarhH H Jafeyd i -

A. 3cidol SR JIHIIEA

B. Sligid Sl fa~badd-
C. FATIUA Bie

D. Sil. 3. @i

A fGu U Al § ¥ g1 SR &1 994 DifoiL:

1.B,C,D,A

2.A,B,C,D
3CAD B

4. A.C.B.D

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 34212312779 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

As per history of advertising, total period is divided into six periods or stages. Following are
given four of these stages, Arrange them in correct order as per its origin.

A. Pre-Printing period
B. Period of consolidation

C. Period of expansion
D. Early printing period

Choose the correct answer from the options given below:
A B IDC
2.8, B BC
3B AC.D

4.D,A,B,C
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Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 34212312779 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

faRTT & A8 & SJUR, $d 2di¥ &I g dIaavs| a1 a1l § [quiierd fhar T g
e 30 U IR U S 71 §1 38 ID1 IR & SIHR gl 3Ihd H HaYd HIfofu -

A. gd-Hgur e (i fUifd fofkas)

B. TGl HId (TIRTS 3ITh H-aldie )
C. R &1 (UIRAS 3 Taru=a-)

D. 3R GEUT BT (3l Ui dias)

< fGu T fae eyl § 9 @@t IO &1 994 Sifsu:

I.A; B, D, C

2.A.DBC
3.B,ACD

4. D. A B, C
Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 34212312780 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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In reference to term “Graphic Design” arrange correct sequence as per its invention/ creation

A. Senefelder invents Lithography

B. 15! Egyptian typeface
C. Braille, writing system far blind
D. Lanston, monotype machine

Choose the correct answer from the options given below:

;8 B, E. B

t2

.D,A;B,C
3B, C,D.A

4. A, C,B,D

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 34212312780 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

b (S Tsg & Yo § MHRI DI b AMTBR/GSH & IR Tgl 3Ha o
FARYd DIfTT:

A. U ey A TiUTE &1 SMfashR |
B. [T 3T YYH 13Uk |
C. oid, =P aIfeal & e o ugid|

D. =, ST A3
1 feu e fadedl § 9 F8T IR D1 99 DifeIC:

1.A B CD

I~

.D,AB.C
3.B,C,D. A
4 A C,B.D

Options :

1.1

2.2
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3.3
4.4

Question Number : 99 Question Id : 34212312781 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

As per Advertising Agency structure and operations chart arrange correct sequence of positions as
per their role of importance.

A. Creative group head
B. Studio manager

C. Account executive
D. Art Director

E. Visualisers

Choose the correct answer from the options given below:

1. CABDE

[

.D;AB, C.E
3.4,C,B,D,E

4. C.5D. B E
Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 34212312781 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fIITO TSIl RaH1 Ud uRare 91 & 3R HEieiRad &f 3961 a1 &f ugdl &f fufd
& e 3FHH H Aafd HIfor -

A. TETHS T 1 (fhafca qu gs)

B. €3l UdHd (fsal TeR)

C. I HDRT (YRR UTHIS< Sauiidgfcd

D. ol &R (311 T8

E. A9 (fas]siegsi)

A fau U fasedl # 9 ¥8T 3R &1 994 Dol

1.C.A,B . D.E

2. D4, B, C.E
3.A,C,B,D,E

4. C.A.D.B.E

Options :
1.1
2.2
3.3
4.4

Question Number : 100 Question Id : 34212312782 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the process in a proper sequence.

A. Pour hot water and expose the plate

B. Etch the plate in acid tray

C. Draw with the sugar liquid on to a plate
D. Print the plate

E. Cover up the plate with acid resistant

Choose the cerrect answer from the options given below:
1.E,C.B,A.D
2.8 CoE B 1D
3CEABD

4.E. A CB,D

Options :
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1.1
2.2
3.3
4.4

Question Number : 100 Question Id : 34212312782 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FafeiRad ufhar 1 GgfId 2hH H diyd Hifel -

A. T O d T SaHT T4 &I bl Sgliid STl
B. 3/ ¢ (<) H wie &1 HemRo|

C. &ie WR Il & did & 91 fFiEd &l

D. Wie &l Gfgd B

E. 3t UleRIY® & U1 &I Bl G|

4 fou U faeedl § 9 ¥8T 3R &1 994 DI

1LE. C.B,A. D

2AC.E.B.D

3.C,EABD

4. E.A.C,B,D
Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 34212312783 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the given terms in progressive sequence.

A. Editioning
B. Cancellation proot
C. Bon a tirer
D. Numbering
E. Trial proof

Choose the correct answer from the options given below:
I.C,E,B,A.D
2ZECABD
3B, EADC

4.A,C,E,B,D

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 34212312783 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

i &8 T Ul (Ysal) Bl SRITR 9¢,d HH H HaiRUd Hifor -

A. GIH i (ufs=r)
B. U [dai (bh-TRIe )
C. 9 TER

D. 4

E. U TRI&T

-+ fGu T fasedl § 9 &gl IR &1 994 Sifeu:

LG E,B. A D

2B €.45.B.1D

3.B,E.A,D,C

4 A C.E.B.D
Options :
1.1
2.2
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3.3
4.4

Question Number : 102 Question Id : 34212312784 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the materials in a sequence from its Hardness to softness.

A. MDF Board
B. Copper plate
C. Linolium

D. Zinc plate
E. Steel plate

Choose the correct answer from the options given below:

L.E. B LA G

[

A DAABE
3.CAD.B.E

4.B,D,A,E,C

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 34212312784 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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FafaRad 9! ®f 39T SRl U Igdl & b T Adid Hife -

A THSIUG 918
B. IR e
c. feFifermy
D. S @i
E. ¥id @i

i fu U fad el § 9 @81 IR &l 994 Diflu;

1E; B, D, A, C

[

O DADB.E
3.CADBE

4.B,D,AE.C
Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 34212312785 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks :

Choose the correct chronology of the sculptures of Naum Gabo

A. Model for construction in Space-Arch No.2

B. Linear construction in Space-Arch No-3-with Red
C. Translucent variation on spheric theme

D. Circular relief

Choose the correct answer from the options given below:

. D0 B, &

I

.A,B,C,D
3L B.DICA

4.C,D.A B
Options :
1.1
2.2
3.3
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4.4

Question Number : 103 Question Id : 34212312785 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

17 7141 B gidal &1 9T 3Ha I -

A. HISd BR HEdRH 24 TY-3H . 2
B. WIIR $cdRH 34 WY 4.3 fdg 38
C. Ty dRUTH 39 Thike 4

D. Yok el

A fGu U f[ddedl § O 8T 3R &1 904 DT

1. DCB, &

[

A B CD
3B, DA

4.C,D.A.B

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 34212312786 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Choose the correct chronology of Indian Art.

A. Chandellas

B. Rastrakoot

C. Hoysalas

D. Kushan (Mathura)

Choose the correct answer from the options given below:

1.D,B,A,C

t-2

B, B, C

3ABED

4.D,A,B,C
Options :
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1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 34212312786 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YR Sl & Tl HIclhH Bl U -
A. dad
B. gi
C. gayd
D. HUIT (HYT)
AId feu e fadedl O 9 FgT SR D1 999 DT

1. DB A, C

f2

.B.A.D.C

3:A,B,CD

4.D.A.B.C

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 34212312787 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the correct sequence of chola bronze statue which are housed at Govt. Museum in
chennal.

A. Vishnu with consorts
B. Tripurantaka

C. Manikkavachakar
D. Mahishasuramardini

Choose the correct answer from the options given below:
LA DCE
2B, A DC
3.C. B, A,D

4.0, CBA

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 34212312787 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

defs & AT IY TGS H TG 1T Il Hieg Uil I ¥l 3hH H SFaryd Sife -

A. QUETD fqu]
B. AQRI&

C. HiUldhdddh

D. AIGRATGH!
A fau U fasedl § 9 ¥8T 3R &1 994 DHIfoIu:

LA DG B

2.B.AD,C
€. B.0,D

4.D,C,B,A

Options :
1.1
2.2
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3.3
4.4

Question Number : 106 Question Id : 34212312788 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the interpretation chitmudras (denotes emotions. in Mathura style of sculptures.

A. Pointer finger joined to the thumb with the palm facing the back
B. Mudra indicates Buddha delivering a Sermon

C. Expresses his attempt at persuasion

D. Mudra indicate thumb joined to the middle finger

Choose the cerrect answer from the options given below:

1. Aand B only
2. B and C only
3. A.Band D only

4. B, C and D only
Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 34212312788 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Al &1 AR A H T (Wi &1 3P 3 dTel) & Fd= 3 Fgiihd HIfsu -

A. U8 HRT & U1 &I gl & 3i7S U S [GARES [ |
B. 39 Hg1 H AgIAE<S &I U od gU eI T g

C. 39Y 2dh 349 &1 WY i eddd gldl gl

D. gg gl 7H 3 1Tcll § g 317 &l a2idi g

i feu T fadetl 7 9 FT SR D1 99 BIfT:
1. ®dd A 3R B
2. HIAB AR C
3. Hdd A, B 3R D
4. $HddB, C 3ARD

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 34212312789 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Figure out the architecture features of Lad Khan Temple at Aihole.

A. Large mandapa type temple
B. Stands on a moulded adisthana
C. Consists of 08 pillars which arranged into two rectangles

D. On the roof of the Lad Khan just above the middle have stands another big shrine without
any kind of images on the outer walls

Choose the cerrect answer from the options given below:

1. A and B only
2.B, C and D only
3. B and C only

4. A, Cand D only

Options :
1.1
2.2
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3.3
4.4

Question Number : 107 Question Id : 34212312789 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

UEid fYd @ & Hiex B QI ddl i [aRITd131 &l T -

A. 98¢ H3U g BT Afcx

B. 9dAd ATTUEH R sl

C. 299 08 WY B Ol & 3madi ¥ f9-arid g

D. mﬁ{ggﬁ Sd R TH gl & 3idh IR IR 9o Y124 IR 918l SIaR] R fa-1 fbd gfd &
Tal gl

A1 [SU U [qhedl § 9 a7 IR @l 999 BT,
|. Hdd A AR B

2. Hdd B, C AR D
3. HddB AR C
4. Had A, C 3R D

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 34212312790 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Figure at the facts associated with the artist Jacopo Bellini.

A. He was the first to infroduced a new sprit into venetian painting

B. Joy in nature and a fanciful imagination are apparent in his drawings

C. Influenced by the dramatic movements and growing interest in abstract art
D. Need Bronze relief, 'Herod's feast' which represents the tragic moment

E. Most important artist of Dugento

Choose the correct answer from the options given below:

1. A and B only

b2

.C and D only
3. B and D only

4. C and E only

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 34212312790 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

DHABR Sl dicH! § Haferd d2f I iUl

A 39 B FEFFHar H 73 AT 3id: R0 S dicl Ugd afad Y1

B. 3d] [eddl H Udpfd § g 3R Hed-l Udhe g

C. AleH g Hicadl ¥ uHifdd iR YRYd &l H de<dl gs IR

D. 35 D% Fediad (Relith) RIS Wik 411 Sl §:id &07 &I FH=i0d S gl
E. 37! & 3Hid Gg@qul HaTbR g |

1 feu U fas ettt # 9 F1 IR &1 99 DI
1.Hdel A 3R B
2. %dd C AR D
3. ®dd B R D

4. Hddc 3ARE

Options :
1.1
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4.4

Question Number : 109 Question Id : 34212312791 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the Paul Gauguin's color applications seen in his painting.

A. Pioneered in the abstract use of color (green blue horses) to represent emotion through
unexpected combinations

B. Preferred :large area of bright tropical color

C. Used unusual, exotic colours emotionally selected in exciting combinations to aroused
interest

D. While he filled his figure with the most daring colours, he usually made his backgrounds
hard

E. He changed his subjects and style of colouring as well with time

Choose the correct answer from the options given below:

1. A. B and C only
2. B, C and D only
3.C,Dand A only

4. D. A and B only

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 34212312791 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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L = & 3 *
Oiel T &1 Ut 7 yeiRid 1 S uant &l fgifdhd Hifsu -

A. &mgmﬁﬁiﬁmmaaﬁuﬁaaﬂﬁ%mwﬁﬁqﬁaﬁﬂﬁwﬂjwﬁ
3T 4|

B. IHBHGR dI&01 3 & AU &1 &l aiigdl U Hd U]

C. 3 ITF B & ol Idoid GaisH! H FgiHd HidTdd 9 U 3T T &1
STROT |

D. S 351+ U TPHiaal H i ARy 31 4RI, df S5l U g8 YH &l 9eg

E.glﬂm%}?wumﬁﬁwaﬁ?@mﬁaﬂﬁ?ﬁﬁuﬁaﬁﬁﬁw
A fqT U g edt # F Fg IR &1 99 BT

1.hdd A, B3R C

2. Hdd B, C 3R D

3.%HadC. D3R A

4. HdAD, A 3R B

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 34212312792 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The artist who were inspired by ‘Tantra’

A. Pratulla Mohanti
B. K. V. Haridasan
C. Madhavi Parekh
D. Biren Dey

E. Rathin Mitra

Choose the correct answer from the options given below:
1. A, C,D, Eonly
2.A.D.Eonly
3.A. B.and D only

4. B, C, D and E only

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 34212312792 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

I HABR S dT JUHIfad 4. 98 -
A. T At

B. &. dl. gRaHA
C. HIYdl URa

D ARAS
E. 3449 i

d feu U fadhedl § °§ @81 3R &l 99 DIfSIU:
l.Hdd A, C, D 3RE

2. Hdd A, D 3R E

3. Hdd A, B IR D

4. Hdd B, C,D 3R E

Options :
1.1
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3.3
4.4

Question Number : 111 Question Id : 34212312793 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the background of the Pichwai Paintings

A. 900-vear old art form

B. Taught in the age-oldest-shishya tradition

C. Originally painted on paper

D. Pointed with organic colours

E. Paintings can be found in the temples of the Pushtimarg devotional tradition

Choose the correct answer from the options given below:

1. C, D and E only
2. B, D and E only
3. A.Band D only

4. C,B and A only

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 34212312793 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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e Uferd & UfieTiid ggiH 3 fagiied SifT -

A. 900 TY UTH Hefl &4 |

B. 34 R %% IR & g S g

C. Fdd: DI R =& fhar Srar g

D. 38 5 31 ¥ faad fhar Srar g

E. 9 Ufery giyantt ¢ffie R & diexl | urdl S 9l 8

i feu T fahedl § 9 a1 IR B 99 DIIT;
. $dd C. D 3ARE

2. Hdd B. D AR E
3. FHddA.B 3R D
4. HIAC. B3R A

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 34212312794 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Select the painted Manuscripts of Buddhism.

A. Uttardhyyam Sutra

B. Prajva Parmita

C. Panch Raksha

D. Asta sahastrika

E. Maha Mayuri Gandvyuh

Choose the correct answer from the options given below:
1.B, C,Donly
2. A.B,Conly
3.A,B.C.Donly

4.B,C.D,E only

Options :
1.1
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2.2
3.3
4.4

Question Number : 112 Question Id : 34212312794 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

di ¥ B T uigfaftal Fafrfed d a9 o dt e

A. SR G
. UIRIT ORI

R EEL]

- 3 iRt

R MR NRISEI

[GU U [ddedl § 9 g7 3R &l 99 DIl
1. ®ddB. C 3R D

Hdd A B3R C
3. hdd A. B, C 3R D
4. Hdd B, C.D 3R E

Options :
1.1
2.2
3.3
4.4

mOnNnw

=
dl

]

Question Number : 113 Question Id : 34212312795 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Select the Indian epic/ texts which are translated in Persian during Mughal period.

A. Mahabharata
B. Ramayana
C. Atharvaveda
D. Anga Sutra
E. Rati Rahasya

Choose the correct answer from the options given below:

1. A, D, Conly
2.B.C.Donly
3.A . B.Conly

4.C,D,E only

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 34212312795 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e T § BRY! H eFfed YR Aeiara iy Fafafaa A Y sH I 82
A. HRIURA

4 feu U f[damedl § ¥ @8t SR &1 994 DT
. Bdd A. D3R C
2. Hdd B, C AR D
3. hdd A, B3R C
4. H9d C, D 3RE

Options :
1.1
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2.2
3.3
4.4

Question Number : 114 Question Id : 34212312796 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are principle of campaign planning?

A. Market Research
B. Dominance

C. Consumer behavior
D. Concentration

E. Repetition

Choose the correct answer from the options given below:

1.B, C. E only

B

A, C,D, only
3.A.B.Conly

4.B,D.E only

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 34212312796 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A gio & fgid Fafiad g 9 oI g

A. IR YT
B. UYd

C. IUHTHI-HdER
IR CEAUNUGADEY

E. GRIgRd
i fu U fad el § 9 @81 IR &l 994 Diflu;
1. $ddB. C.E

2. HAd A, C.D
3. HAd A, B, C
4. HAdB.D. E

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 34212312797 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Objectives of Advertising campaign are.

A. Building a strong brand image

B. Make better the public relation of the company
C. To increase cost of living

D. To sell product the service or the idea

E. To create corporate image

Choose the correct answer from the options given below:

1. A, B, D andE only
2. A, B, and E only
3.B,C,DandE only

4. A, C,Donly

Options :
1.1
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2.2
3.3
4.4

Question Number : 115 Question Id : 34212312797 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fa=Ta it & Sexa Fafifaa H 9 e a2

A. geo die ©id &1 i

B. HUHl & SH-UdY (dfectshr ReA2H) & §gaR g1
C. &A@ Siiad (cifdT) $1 drrd 4 g S

D. 31, U4l 41 [ddR &1 faehl Bl

E. BIURe Bid Afdd &1

il

d fQu U fadhetdl § 9 8T IR &l 99 DifSie:
l.®hdd A, B, D 3RE

2. Hdd A, B AR E

3. H4dd B, C,D 3RE

4. Hdd A, C IR D

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 34212312798 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Identify poster designed by Alphonse Mucha

A. Gismonda Poster

B. Poster far Orphens in Hades

C. Poster for Job cigarette papers

D. Poster for the French commerce ministry exhibit
E. Poster for Manaco Monte Carlo

Choose the correct answer from the options given below:

I.A. Cand D only
2. A, C.D andE only
3.B.C.Donly

4.C,D, E only

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 34212312798 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3 1Y HH R A itrd URex! &l fafgd ST -

A TAR—T U

B. oo H [FRI%dl & folu gReR

C. Sl e Uy & fold URex

D. I 1forsd AA1ed &1 el & ol Uiex
E. HHIH! Al HIcll & ol URex

1 feu U fas ettt # 9 F1 IR &1 99 DI
1.®dd A, C 3R D
2. HAd A, C,D 3R E
3. ®ddB, C 3R D
4. Had C, D IRE

Options :
1.1
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2.2
3.3
4.4

Question Number : 117 Question Id : 34212312799 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct sans serif fonts.

A. Universe

B. Futura

C. Helvitica

D. Baskerville
E. Avant Gande

Choose the correct answer from the options given below:
1.A B, C,E only
2.C,D and E only
3.A.C.DandE only

4. B, C, D and E only

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 34212312799 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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el I UR® B &l fgifdd DT -

- feu U fasett # ¥ FT IR 1 99 DI
1.Pdd A, B, C 3RE
2. $had C, D AR E
3. had A, C,D 3RE
4. $Ad B, C.D 3R E

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 34212312800 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The 'Bat-tala Prints' has witnesses.

A. The engrarers mostly belonged to castes of sutradhar and shikaris

B. The kalighat Patuvas were the Bat-Tala Prints

C. The Bat-Tala literate was aimed at the Semi-educated reader

D. Bama Pada Banerjee and Ramendra Nath Chakraborty were the Bat-Tala artists

E. Puranic mythology, Pedagogical literater and legendary romance were the subject matter

Choose the correct answer from the options given below:

1.B, C, E only
2. A.D,E only
3.B.C.Donly

4. A, C.E only

Options :
1.1
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2.2
3.3
4.4

Question Number : 118 Question Id : 34212312800 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“se-dell fiicy: Fgifdd o1 ael 6

A. b 1Ud JHUBAT: GAYR 3R bl S1fd § Hdferd U
B. BIcidle U3 ge-dal [Ued &l a0l drd U]

C. F-qd Uligd BT a8 31 1R1erd Ura s WR 41|

D. STH1 UTGT d-511 3R IHGATY Ishddl dd-dell HaAlbR |

E. URIT0I IR, ISR (USTISH) g 7Yl Sd ST ARG IR 34
[ELRETS RN

- feu Mg fadetl # 9 FoT SR &1 907 DI
1. Hdd B, C 3R E
2. HIAA, D ARE
3.%dd B, C 3R D
4. HIAA, C ARE

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 34212312801 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Who among the below artists have worked at Hayter's Atelier-17

A. R.M. Palaniappam
B. N.K. Dixit

C. Lalitha Lajmi

D. Somnath Hore

E. Bimal Banerjee

Choose the correct answer from the options given below:

l.B. E only
2.A.Donly
3. C.E only

4. A, Conly

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 34212312801 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FHifed # U [ dadRI 3 -gdcd UelaR- 17 H & fharg?

A. 3R.UH. U3
B. UA.&. Sli&rd

C. dlerdr darerdt

D. 9T B8R

E. f90d Sl

i Ru MU fdedl # 9 87 SR &1 99 DI
1. hd B 3R E
2. ®dd A R D
3.%dd C 3R E
4. HIA AR C

Options :
1.1
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2.2
3.3
4.4

Question Number : 120 Question Id : 34212312802 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who among the given list known for Linocut prints created by them.

A. Jeram Patel

B. Vinod Shah

C. Chitta Prasad

D. Jai Zharotia

E. Vinod Ray Patel

Choose the correct answer from the options given below:
1. A Donly

2. C,E only

LFE]

.B, C only

4. A E only

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 34212312802 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Frafiad G i @ S oad Ry R eiwe fife & foe wiig 22

A, SRE TS
B. faHIc I8
c. T ugre
D. S1g SRl
E. faqig @ udd

- feu U fasett # ¥ FT IR 1 99 DI
1.Hdd A 3R D
2. $Hdd C AR E
3. $HadB 3R C
4. HId A RE

Options :
1.1
2.2
3.3
4.4

Question Number : 121 Question Id : 34212312803 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A good and original print from a printmaking must consist of.

A. Intimate relationship with a creative process, editing revising and reworking until a final
work is achieved

. All the prints from different state of printing must include in an edition

. A print maker must think of only recognition

. An artist 1s free to unfollow the editioning terms and do the printing

. A print maker is an artist whose work involve a disciplined process at every level

mOnNw

Choose the correct answer from the options given below:

1. B, D only
2. C.E only
3.A.E only

4. A. D only
Options :
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1.1
2.2
3.3
4.4

Question Number : 121 Question Id : 34212312803 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fodl fieHar & gRI1 3= 3R gd e § FgfaRad ard giHi arfgu -

A. 59 db D DI fdd U = ¢ g1 WU dd da ol Ui ar gure-, gRRe R
: 9 9y ey WG|

B. aUl &1 {1712 fRufa & 9t fiie us dxror o siazg Qifire fu Srd |

C. U [UeHSH Bl had Ulilg & T H 941 d1igy

D. U6 HAIHR UG- el Tdl &1 UTa- i o ol WA g

E.%WWWW%WWﬁWWWW@HWW

gl

A [Gu U [ddedl § 9 FgT 3R &1 994 HISIU:
. Hdd B AR D
2. dhad c AR E
3. hdd A 3RE

4. Had A AR D

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 34212312804 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Mark the sculpture characteristic of Romanesque sculpture

A. Sculpture was not meant for architectural ornament

B. Form of sculpture was relief stylized and conventional

C. Artist did not reproduce the human and animal forms as they are in nature

D. The manner of representation is highly realistic

E. Finest example of reliet sculpture on doorways were produced in Provence and burgundy
(France)

Choose the correct answer from the options given below:

l.A.BandD only
2. B, C and E only
3.C.DandE only

4.D. A and B only
Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 34212312804 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 138/173



8/31/24, 10:18 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

31 B i 3 FRIaT gar -

A. i dl IR TS0 g1 Ul

B. {ddhdl BT ¥U Rell®, ¢ Ul & IR R IWRATI §Idl o

e %ﬂﬁmmﬂa 3R U WUl &l 39 U H YUK Il Hd 4 S d Udhid | U Sid
|

D. TR &1 USTd ST JUTIRS gidl g

E glei?? UM Rell® gidddl & didd 3argrul Uid=g dul sRis| (hid) ¥ uedd fhu
MUY

A fou U faeedl § 9 ¥8T 3R &1 994 DI
. Had A, B3R D

2. HddB. C 3R E
3. mad C.D3IRE
4. Hdd D.A 3R B

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 34212312805 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The Temperature of the costed metal can be assessed also by its color, select the correct
temperature chart of metal.

A. Dark Red 1004 °F
B. Cherry Red 1373 °F
C. Yellow 1544 °F

D. White 2102 °F

E. Orange 878 °F

Choose the correct answer from the options given below:
1. A, B.D only
2.A.B.C.Donly
3.8, 1, Eonly

4.A,B,C,D,E

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 34212312805 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Gclls Bi TS &1 BT dGHH BT A 3Yb T Y i ST S Gehdl g1 &1 & Ug! dradH=
A1 BT I X -

A. TR A1 (ST ¥8) 1004 °F
B. TRIYS 1373 °F

C. UTell (ddl) 1544 °F

D. g (F59) 2102 °F

E. AR (3M1R) 878 °F

- feq MY faded! # I F8T3wI 31 997 DI
1.Had A, B ARD
2. $hAd A, B, C 3R D
3.%dd C. D 3RE

44 BB E

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 140/173



8/31/24, 10:18 PM g28.digialm.com/CAE/viewHtmIPDFAction.action
Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 34212312806 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the sculptures of Henry Moore

A. Harbinger Bird - IIT -1960
B. Reclining Figure - 1929
C. Glenkin cross - 1955

D. Hemet head No 2- 1950
E. Bird Basket-1939

Choose the correct answer from the options given below:

1.A. B.C,Donly

B

.B, C, D, E only
3.C.D.E only

4. A, C.E only

Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 34212312806 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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BRI TR DI Hici el b ggdr o -

A. BRI §S - 111 -1960
B. R R - 1929
C. THIdh BT - 1955
D.gHe T8 1. 2-1950

E. 98 d&hC - 1939

- feu U faded! ¥ FpT IR B 90 HIST:
1.$had A, B, C 3R D
2. $HddB. C.D 3R E
3.$had C, D 3ARE
4. PAd A, C 3R E

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 34212312807 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify Jataka stories from Bharhut

A. Dambhpuk Jataka
B. Latukit Jataka

C. Nachchh Jataka
D. Napit Jataka

Choose the correct answer from the options given below:

1.B, C, Donly

f2

. A, B, D only
3.A B, Conly

4.A,B,C,D

Options :
1.1
2.2
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3.3
4.4

Question Number : 125 Question Id : 34212312807 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

RGP Sl bl BT UgdH d -
A. YTUTH D
B. dldfdhe STdd
C. T3 AId®
D. J1fUd Sdd
= fSu U fadeul § ¥ 98T 3R 1 99 DIIT:
1. Hdd B, C AR D

Hdd A, B3R D

[

3. HAdd A B3R C

4.A.B.C3RD

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 34212312808 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
Tarangavati [. | Gunadhva
Kathamanjari II. | Ashwaghosha

Gatha Saptashati| III. | Shri Palita

olo|w|

Saundaryvananda | IV. |Hala

Choose the correct answer from the options given below:

1. A-1, B-1IV, C-11, D-1II

b2

CA-IL B-IITL, C-1, D-IV
3. A-III, B-1, C-IV, D-II

4. A-IV, B-11, C-II1, D-1I
Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 34212312808 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT 1P 1Y AT 11 D1 I Pifore

T T 11

GERIER]] I |Tumea
FuTEeRT | 10 | e
T ORI | 101 | 4t rfera

gl |1V [&d
A f6u U A edl § 4 I8t IR 1 994 HIIU;

1. A-I, B-TV, C-I1, D-III

Slolw|*

2. A1l B-IIL, C-I, D-IV

3. A-III, B-1, C-1V, D-II

4. A-IV, B-1II, C-III, D-1

Options :
https://g28.digialm.com/CAE/viewHtmIPDFAction.action 144/173



8/31/24, 10:18 PM g28.digialm.com/CAE/viewHtmIPDFAction.action
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 34212312809 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

LISTI LIST IT

Nagaraja I |Cavel9
Mother and chuld| II. |Cave 17
Jagannath sabha | III. | Cave 33
Sibi Jataka IV. |Cave 1

olo|w|e

Choose the correct answer from the options given below:
1. A1, B-II, C-III, D-1IV
2. A-IL B-III, C-IV, D-I
3. A-IIL B-IL. C-IV, D-I

4. A-1. B-1II, C-IV, D-II
Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 34212312809 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifsy
T 1 A

AR L |71 19
ST SR TR | 11 | AT 17
Sy s |10 7T 33
fafgsae |1V |T®T1

AT fou U fasedl § U Igt 3R &1 99 DHIfoIu:

1. A-L, B-IL, C-IIL, D-IV

olo[=[>

2. A-11, B-1II, C-1V, D-1
3. A-III, B-1I, C-IV, D-1

4. A-1, B-III, C-IV, D-TI

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 34212312810 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LISTI LISTII
A |Hera of Samos L | Vatican Museum
B. | Three fates II. | British Museum
C. |Lwsippos III. | Berlin Museum
D. |Emperor Caracalla| IV | Louvre Museum

Choose the correct answer from the options given below:

1. A-I, B-III, C-II, D-IV

b2

. A-IL B-IV, C-II1, D-1
3. A, B-1, C-IV, D-II

4. A-IV, B-11, C-1, D-III
Options :
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1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 34212312810 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e ERINE eIl CAIERIEEIELY
A1 T 11

B0 2 gag | 1 |3fed dume
i ey 11 | fafew Sugag
SIBEIES 111 | §feH 9uere

| TR SR | IV, | d $UgTad

NIRIEIE

A 13U U f[d& el H 9 It 3R &1 999 SIS

1. A-I, B-IMI, C-TI, D-IV

f-2

. A-IL, B-1IV, C-III, D-1
3. A-1II, B-1, C-1V, D-II

4. A-1IV, B-1I, C-1, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 129 Question Id : 34212312811 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

g28.digialm.com/CAE/viewHtmIPDFAction.action

LISTI LISTII
A | Anish Kapoor I. | My mother and me
B. | Subodh Gupta [I. | The Nymph and the adult
C. | Sudarshan Shethv | III. | Taratantara
D. |Hema Upadhyay | IV | Shift

Choose the correct answer from the options given below:

1. A-II1, B-1, C-IV, D-II

| ]

. A-IV, B-1, C-III, D-II

3. A-IL B-III, C-IV, D-1

4. A-1, B-IV, C-III, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 129 Question Id : 34212312811 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT 1D 1Y AT 11 D1 I Pifore

e 1

|3FmER |1

TS Hex TS At

II.

¢ h IS g U

|gegEd |m

IR
4,
3

|gm U | 1v.

e

A U U A edl § 4 I8t 3R BT I99H HIIT;

1. A-IIT, B-1, C-IV, D-II

2. A-IV, B-1, C-III, D-II

3. A-II. B-IIIL, C-IV, D-1

4. A-1. B-IV, C-III, D-1

Options :
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1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 34212312812 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

LISTI LISTII

A Ram Chandran | 1. | Mandana-Garden in the morming
Om Prakash IL. | The tree of life
G. M. Sheikh II1. | Extension of desire

=N B2l R e

Jai Zharotia IV | Urvashi, Puruavas and Lotus pond

Choose the correct answer from the options given below:
1. A-II. B-L. C-IV, D-III
2. A-IIL B-IV, C-1, D-II
3. A-IV.B-L. C-II, D-III

4. A-1. B-1II, C-IV, D-II
Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 34212312812 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

g28.digialm.com/CAE/viewHtmIPDFAction.action

T 10

Jusmg=A| 1

OiEq1ITa 34 g Tl

e\ uem |

g ¢l 3itp 3

III.

TEEeTH Hw oy

MR
4l, :
A
a

=g srifear | 1v.

Jq, &A1 US dled Ui

1 feu 7T fadh el § 9 T8T IR &1 79 DIfIT;
1. A-IL, B-1, C-IV, D-III
2. AL B-1V, C-I, D-II
3. A1V, B, CII D-III

4. A-1, B-III, C-IV, D-TI

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 34212312813 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LISTI

LISTII

Edward Munch

Flochetage

Surrealism

1I.

Atetetr

Georges Braque

III.

Death chamber

=H Rl e e

Impressionism

v

Frottage

Choose the correct answer from the options given below:
1. A-IL, B-IIL, C-IV, D-I
2. A-IV, B-1I, C-1, D-IIT
3. A-I, B-III, C-II, D-1IV

4. A-IIT, B-1V, C-1I1, D-1I

Options :

https://g28.digialm.com/CAE/viewHtmIPDFAction.action

150/173



8/31/24, 10:18 PM g28.digialm.com/CAE/viewHtmIPDFAction.action
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 34212312813 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e ERINE eIl CAIERIEEIELY

qA 1 T 11
Usds HE | 1 |ueiEew
ffqaurdarg | 1. |wefermr
EIEt s bl =t
ayEa |1V |miew

Slolw|*

A 13U U f[d& el H 9 It 3R &1 999 SIS

1. A-II, B-1II, C-IV, D-1

f-2

.A-TV, B-I, C-L, D-IIT
3. A1 B-IN, C-I1, D-1IV

4. A-III, B-IV. C-I1, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 34212312814 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI

LISTII

The Maharaja

Commenwealth Games Dell1

Appu

1I.

Asian paints

Tiger Mascot

I

1982 Asian Games

=N ol R e

Gattu

IV

Air India

Choose the correct answer from the options given below:

1. A-IV, B-11, C-1II, D-I

b2

. A-IV, B-II, C-1, D-II

3. A1 B-II, C-IV, D-IIT

4. A-II1, B-11, C-IV, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 34212312814 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

AT 1P 1Y AT 11 D1 I Pifore

T

= 10

T HERTST

L | pHEe . foedt

-

I | ufargH U=y

| oo HER (@R FHe) | 111 | 1982 TRAMR W

CSIRIEIE

Tleg

L
L=

v | waR gfean

A f6u U A edl § 4 I8t IR 1 994 HIIU;

1. A-TIV, B-11, C-III, D-1I

2. A-IV, B-III, C-1, D-II

3. A-1, B-II, C-IV, D-III

4. A-II1, B-1I, C-1V, D-1

Options :

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 34212312815 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

LISTI LISTII

Black face | I. | Transitioanal

Univers II. | Old style Roman
Baskerville | ITI. | Sans senf
Caslon [V | Old English

=N B2l R e

Choose the correct answer from the options given below:
1. A-III, B-IV, C-II, D-I
2. A-IL B-III, C-IV, D-I
3. A-L, B-III, C-IV. D-II

4. A-IV, B-1II. C-1. D-II
Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 34212312815 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifsy

g1 T I
e By | L |ZifREg

gfad I | 31eE wEd I8
Fredaed | 1L | 89 O

T |1V | efies Sfew
AT fou U fasedl § U Igt 3R &1 99 DHIfoIu:

1. A-III, B-1V, C-I1, D-1

= el Rl

2. A-II. B-IIL, C-1IV, D-1

3. A1 B-III, C-IV, D-II

4. A-IV, B-III, C-1, D-TI

Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 34212312816 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LISTI LISTII
A | Tea, Coffes I | Convenience
B. | Insurance companies II. | Aesthetic pleasure
C. | Perfumes, music I11. | Physiological motives
D | Tea-bags, pressure cookers | IV | Security

Choose the correct answer from the options given below:

1. A-IV, B-III, C-1I, D-1

b2

AL B-1V, C-I1, D-1

3. A-L B-II, C-II, D-IV

4. A-IL. B-1V, C-1, D-III
Options :
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1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 34212312816 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e ERINE eIl CAIERIEEIELY

T 11
914, BIH] L |gfaen
ST dufal I | dedm®
A, Gifld 111 | G199 3534
|F s R e | v | ufayfa

NIRIEIE

[l

A 13U U f[d& el H 9 It 3R &1 999 SIS

1. A-IV, B-11I, C-II, D-1

f-2

. A-IIT, B-IV, C-I1, D-1
3. A1 B-IN, C-I1, D-1IV

4. A-11, B-IV, C-1, D-IIT

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 34212312817 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-I with List-
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I1

LISTI

LISTII

William Hogarth | 1.

Coloured etching

Mary Cassatte 1L

Mezzotint

Guy Langevin  |IIL

Engraving

=N ol R e

F B solvyns IV

Multi plate Etching

Choose the correct answer from the options given below:

1. A-II, B-1II. C-IV, D-I

| ]

. A-III, B-IV, C-I1, D-1

3. A1V, B-1, C-II, D-IIT

4. A, B-1, C-IV, D-II
Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 34212312817 Question Type : MCQ Option Shuffling : No
:0

Correct Marks : 2 Wrong Marks

AT 1P 1Y AT 11 D1 I Pifore

T T

I

A |Rfemmermd | 1 |TfF Femo @ wiem

B |88 &de 1. | Feiife

c.|marifaa || S i,

D |uw. &l Gifca=g| 1V | dg&ie AR @l ©e U

A f6u U A edl § 4 I8t IR 1 994 HIIU;

1. A-II, B-TII, C-IV, D-1
2. A-II1, B-1V, C-1I, D-1
3. A-IV, B-I, C-II. D-III

4. A-1I1, B-1, C-1V, D-II

Options :
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1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 34212312818 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

LIST 1 LIST IT

Spit Bite I | Series of prints

Dutch Mordant | II. | Not for sale

Hors Commerce | [11. | Aquatint

=N B2l R e

Suite IV | Copper Etching

Choose the correct answer from the options given below:
1. A-IV, B-III, C-I, D-II
2. A-IV. B-L. C-II, D-III
3. A-IL B-1V, C-1, D-III

4. A-III, B-1V, C-I1, D-I
Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 34212312818 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifsy

g1 = I
| are | 1 |9 offF fileg
|zTarRE=| 1L | Bk ¥a
L | umife<
== IV | IoR Ui (@ e

AT fou U fasedl § U Igt 3R &1 99 DHIfoIu:

1. A-IV, B-111, C-1, D-II

1
|

2. A-1IV, B-1, C-II, D-III
3. AL B-1V, C-1, D-IIT

4. A-II1, B-1V, C-11, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 34212312819 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LISTI LISTII
A | Gaganendranath Tagore| 1. | Wood Intaglio
B. | M.V Dhurandhar II. | Lithography
C. | Sanat Kar I1I. | Chromolithography
D |N. B Joglekar IV | Oleography

Choose the correct answer from the options given below:
1. A-IIT, B-IV. C-1, D-II
2. A-IV. B-1, C-III, D-II
3. AL B-1 C-IV, D-III

4. A-IV, B-II1. C-I1, D-1
Options :
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1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 34212312819 Question Type : MCQ Option Shuffling : No

g28.digialm.com/CAE/viewHtmIPDFAction.action

Correct Marks : 2 Wrong Marks : 0

e ERINE eIl CAIERIEEIELY

&1 11
A [THZAY SR | 1 |51 3B am el (S g iedl)
B |uadl q¥sr | I |yt
C |THa &R 111 | S e T
D.|g. . SrTEER | v | Sfifeamret

[l

1. A-III, B-IV, C-1, D-II

f-2

. A-IV, B-1, C-III, D-II

3. AL B-1, C-1IV, D-1IT

4. A-1IV, B-I1I, C-1I, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 34212312820 Question Type : MCQ Option Shuffling : No

A 13U U f[d& el H 9 It 3R &1 999 SIS

Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
A |Mandhata. Jataka 1. | Kailash Nath Temple
B. | Shiva; Slaver of the Demon Andhaka | II. | Dasavatara Temple, Deogarh
C. | Durga; slayer of mahisha III. | Amaravati
D. | Vishnu Anantasayana panel IV | Elephanta

Choose the correct answer from the options given below:

1. A-IL, B-III, C-1, D-IV

| ]

. A-1, B-11, C-11I, D-1V
3. A1V, B-1, C-II, D-IIT

4. A, B-1V, C-1, D-IT
Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 34212312820 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT 1P 1Y AT 11 D1 I Pifore
T = I

HeTdl STdd L |dremyAry afex

| 3te® S @1 ay & arel g | 11 | gneaR Jfex, Sae
|Afeu gy S A gl | 1L | R

| s =g O Iv. | ufdith=T

A f6u U A edl § 4 I8t IR 1 994 HIIU;

1. A-IL, B-IIL, C-1, D-IV

oglo|w]|®

]

. A-1, B-II, CII1, D-1IV

3. A-IV, B-I, C-II. D-III

4. A-III, B-IV. C-1, D-II

Options :
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1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 34212312821 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

LISTI LISTIO
A | Antoine pevsner [ | City square-1948
B.|Jean Arp II. |Fruit of Long experience-1919
C. | Max Emnst II1. | Developable surface 1938
D.

Alberto Giacometti | IV. | Madam Torso with Wavy Hat -1916

Choose the correct answer from the options given below:
1. A-IL. B-IIL, C-IV, D-I
2. A-IIL B-IV, C-II, D-I
3. A-IV.B-L. C-II, D-III

4. A-III, B-1, C-II, D-IV
Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 34212312821 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifsy
g1 A I

UCH UobR 1 | ot 'R 1948

=7 3y 11 |Pe 3 U i ueadiRey - 1919
e 3w 111 | S3eUaa 9hd - 1938
3eae] i@ el | IV, | HeH eyl fag adi g2 - 1916

AT fou U fasedl § U Igt 3R &1 99 DHIfoIu:

1. A-II, B-1II, C-1IV, D-1

= el Rl

2. A-IIT, B-1IV, C-I1, D-1
3. A1V, B-1, C-II, D-IIT

4. A-IIT, B-1, C-II, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 34212312822 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LISTI LISTII
A | Satish Gujral I | Vanshri (Hemp)
B. | Mrinalini Mukherjee| II. | Horse (Black Granite)
C. | Ratnabali Kant ITIL | Flight (wood)
D | Chintamani Kar IV | Global Agony

Choose the correct answer from the options given below:
1. A-IL. B-1, C-IV. D-III
2. A-IIL B-TIV, C-1, D-II
3. AL B-1IV, CII, DI

4. A-II, B-1IIL, C-1, D-IV
Options :
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Question Number : 140 Question Id : 34212312822 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e ERINE eIl CAIERIEEIELY

A1 T 11
iR | 1 g3 @
et st | 1 | 8 (&d 910)
IEEe did |11 | RisE (@S)
faamfr®se | 1v. | e T

=N N N

[l

A 13U U f[d& el H 9 It 3R &1 999 SIS

1. A-I1, B-1, C-IV, D-III

f-2

. A-IIT, B-IV, C-1, D-II
3. A-L, B-IV, C-I1, D-III

4. A-IL, B-IIL, C-1, D-IV

Options :

1.1

2.2

3.3

4.4
Sub-Section Number : 2

Sub-Section Id : 342123502
Question Shuffling Allowed : No

Question Id : 34212312823 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 34212312824 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the medium of the artwork given in the image.

1. Water color
2.01l
3. Acrylic

4. Tempera

Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 34212312825 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

On the basis of Narration in the given Artwork identify the title given by the artist.

1. Festival of life
2. Home word bound
3. Harvesting

4. Life of Malabar peasant

Options :
1.1
2.2
3.3
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Question Number : 143 Question Id : 34212312826 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the artist of this artwork.

1. Dheeraj Chaudhary

t-2

. B.C. Sanvyal
3. Sailoz Mukherjee

4. K. C. S Paniker
Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 34212312827 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In which organisation this artwork is housed?

1. Lalit kala Academy

]

. National Gallery of Modern Art
3. Bombay Art Soclety

4. National Museum
Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 34212312828 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The artist of this artwork is associated with which of the following art school.

1. Govt. School of Art and Craft, Madras
2. Govt. School of Art and Craft, Lucknow
3. Govt. College of Art, Calcutta

4. Govt. College of Art, Goa

Options :
1.1
2.2
3.3
4.4

Question Id : 34212312823 Question Type : COMPREHENSION Sub Question Shuffling Allowed
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)

Question Label : Comprehension
R Mt (R P2 E s A

Sub questions

Question Number : 141 Question Id : 34212312824 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o= O Ued 31ddd (Haidpid) & J1eHH &l Ffgd BIfey -

1. ST 3
2. dd

3. Upblfddd
4. AR

Options :
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: Yes Group
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1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 34212312825 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e Beldbld & auiH (Geid) & MR IR HADR gRI 164 T 2Nd P fagiidd Hifor -

1. Sildd &1 3d (hiedd 3 di2h)

2. AT 93
3 i

4. ATAER & gl &1 Siig- (A13% 3410 AldER Uioie)

Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 34212312826 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

24 SdlPid Bl HalbR [HafaRdd d 9 S g2
1. SRS gieR

ol 1 g

el TSIt
4. & 1.0Y. Uit

Options :
1.1
2.2
3.3
4.4

B

L

Question Number : 144 Question Id : 34212312827 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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34 Hlpid DI (AAfciRad # U fbg I o 391 T 82
1. IfeTd el bl
TS 3M1eff+Ieh Pefl difel (FRS TTedl 31 Ais 31d)
3. 9T 3¢ QS
4. AP YR

Options :
1.1
2.2
3.3
4.4

f-2

Question Number : 145 Question Id : 34212312828 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

28 HellPid bl bATdR HHfcRad ¥ U fbd &l Thd U U 82

[

2

THE ¥hd I 31 TS BT, TS

3. T[T Bl AH AT, Haddl

4. TG0 DIl 3B 31, Tl
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 3

Sub-Section Id : 342123503
Question Shuffling Allowed : No

Question Id : 34212312829 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension
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R R

P il S

Sub questions

Question Number : 146 Question Id : 34212312830 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find out the dynasty in which the given image of monument was firstly constructed?

1. Chalukya

[

. Gupta
3. Kushan

4. Mauryan

Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 34212312831 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the time period of the construction of this historical site.
1. I¥* Century BC
2. 2™ Century AD
5, 5t entury AD

4. 10® Century AD

Options :
1.1
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2.2
3.3
4.4

Question Number : 148 Question Id : 34212312832 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

which Jataka story is represented in the given image.

1. Mahakapi Jatak
2. Vessantara Jatak
3. Mahabodhi Jatak

4. Kandary Jatak

Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 34212312833 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the site of the given image.
1. Amaravati
2. Sarnath
3. Vidisha-Sanchi

4. Ellora
Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 34212312834 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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In which medium the given image of panel is actually created?

1. Wood

t2

. Irory
3. Sand stone

4. Marble
Options :
1.1
2.2
3.3
4.4

Question Id : 34212312829 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension

FF‘F_EE:EFEFF FE.I__-F{“F'
667 e

Sub questions

Question Number : 146 Question Id : 34212312830 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fAafciRad # U 39 A9 & [igd Sifed fogH Jid Ued RS & o7 9auyd A e
T U1

L. dTd
2.
3. BT
4. H 1Y
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Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 34212312831 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

39 UfdeTRie Q1 Rl & U sl Hafciad § 4 &H 91 g2
1. UYH [dlec! 3.1,
2. el Traredl §.
3. Uiadl 2rdrsd] 3.
4. &Yl ATsql 3.

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 34212312832 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ved o § FEiiRad § 9 o149 91 Sde &1 Udd 62
1. eI U Jids
2. IR Sldd
3. HEIEIY Sdd

4. BRI SdD

Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 34212312833 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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e o ST e Fgiied d g pHarg?
1. 3HREd!

f-2

CRATY
3. fafezmgr<
4. TAR]

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 34212312834 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

U-Tc &1 Ued fors ardd | {9 aregd | e far man g
1. 945 (P18)
2. 3Tz A (greliefa)
3. 9 TR (IS W)

4. TSIl (HTHAR)
Options :
1.1
2.2

3.3
4.4
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